## Part C: Procurement Plan

Procurement Plan: IMC to submit the procurement plan for ITI as per Section 4.2- Procurement guidelines in the below format:

i. Total Planned Procurement Amount (Year 1 to Year 5) (in INR lakh)

142.364428

ii. Year –wise details of procurement of items (Goods, services etc.) are detailed below:

A. Items to be procured in Year-1

S.No.	Name of items	Specifications	Trade/Course for which it is required	Total Required	Rate / Unit (in INR lakh)	Total (in INR lakh)	Method of Procurement(e.g. Shopping/Competitive Bidding)
1	Measuring tape	3 meter	Carpenter	1	0.00504	0.00504	Competitive Bidding
2	Construction scale		Carpenter	4	0.00864	0.03456	Competitive Bidding
3	Spring caliper outside		Carpenter	4	0.00144	0.00576	Competitive Bidding
4	Wing Compass	300 mm	Carpenter	4	0.0018	0.0072	Competitive Bidding
5	Trammel		Carpenter	2	0.00144	0.00288	Competitive Bidding
6	Sprit level	300 mm	Carpenter	2	0.00216	0.00432	Competitive Bidding
7	Rip Saw	600 mm	Carpenter	4	0.00144	0.00576	Competitive Bidding
8	Cross cut saw		Carpenter	4	0.252	1.008	Competitive Bidding
9	Key hole saw	250 mm	Carpenter	2	0.00216	0.00432	Competitive Bidding
10	Fret saw frame	150 mm	Carpenter	2	0.00468	0.00936	Competitive Bidding
11	Compass saw	350mm	Carpenter	4	0.005472	0.021888	Competitive Bidding
12	Adze	15 kg	Carpenter	4	0.01512	0.06048	Competitive Bidding
	Trying Plane metal 450		Carpenter	4	0.00288	0.01152	
13	mm x 60 mm cutter						Competitive Bidding
14	plane ravet adjustable 250 mmx metersx 9 mm cutters		Carpenter	4	0.00396	0.01584	Competitive Bidding
	Plough plane with set of 8 cutter up to 12 mm width		Carpenter	2	0.01044	0.02088	Competitive Bidding
16	Spoke shaves	50 mm cutter	Carpenter	2	0.00108	0.00216	Competitive Bidding
17	Plain Adjustable circular	250 mm	Carpenter	4	0.003888	0.015552	Competitive Bidding
18	Riouter plane		Carpenter	4	0.00828	0.03312	Competitive Bidding
19	Noulding plan set		Carpenter	4	0.01332	0.05328	Competitive Bidding
20	Cabnet Screper	100 mm	Carpenter	4	0.0162	0.0648	Competitive Bidding
21	Gauge Chisel,firmer	6,10,12,16,20 mm	Carpenter	8	0.018	0.144	Competitive Bidding
22	Gauge Chisel,scribing	6,10,12,16,20 mm	Carpenter	8	0.01692	0.13536	Competitive Bidding
23	Ball pen Hammer	600 grs	Carpenter	4	0.01044	0.04176	Competitive Bidding
24	Cross pen Hammer	600 grs	Carpenter	4	0.00972	0.03888	Competitive Bidding
25	Screw driver	450 mm	Carpenter	4	0.00144		Competitive Bidding
26	Screw driver	250 mm	Carpenter	4	0.00144	0.00576	Competitive Bidding
27	Screw driver	150 mm	Carpenter	4	0.00144	0.00576	Competitive Bidding
28	Pincer	50 mm	Carpenter	4	0.000936	0.003744	Competitive Bidding
29	File half round2nd cut	250 mm	Carpenter	4	0.00144		Competitive Bidding
30	File half round wood rasp bastad		Carpenter	2	0.00144	0.00288	Competitive Bidding
31	File slimmer taper	100 mm	Carpenter	12	0.0018	0.0216	Competitive Bidding
	File slimmer taper	150 mm	Carpenter	12		0.022464	Competitive Bidding
	Card file (steel) wire Brush for file		Carpenter	2		0.00576	
	Hands Drill	6 mm	Carpenter	2	0.00612	0.01224	Competitive Bidding
	Country drill with bow (Ball bearing type		Carpenter	4		0.05616	
J)	(Dan Dearing type	1	l .		L		compensive bluding

		10 10 11 16 10 20			0.00000	0.04453	
27	Hand Auger	10,12,14,16,18,20	Carpenter	4	0.00288	0.01152	
37	0 . 1.0	,22,25 mm			2 22=5	0.01510	Competitive Bidding
	Centre bits	6,8,10,12 mm	Carpenter	2	0.00756		Competitive Bidding
-	Expansion Bit Sets		Carpenter	2	0.01296		Competitive Bidding
40	Twist drill sets	6,8,10,12 mm	Carpenter	2	0.0108		Competitive Bidding
	Counter sink bit	Rose type 12 mm	Carpenter	4	0.01044	0.04176	
41							Competitive Bidding
42	Breast drill	6 mm	Carpenter	2	0.00396		Competitive Bidding
43	Snip Straight	200 mm	Carpenter	4	0.00468	0.01872	Competitive Bidding
	Oil cans Combination		Carpenter	2	0.00252	0.00504	
44	side cuting pliers						Competitive Bidding
	Plinger Saw set/pistol		Carpenter	2	0.0036	0.0072	
45	grip type						Competitive Bidding
46	Number punch	12 mm	Carpenter	2	0.00648	0.01296	Competitive Bidding
47	Slip stone	100 mm	Carpenter	2	0.00216	0.00432	Competitive Bidding
	Round cover bar with	1070x25 mm	Carpenter	2	0.00468	0.00936	
48	chisel and claw end						Competitive Bidding
49	G Clamp	100 mm	Carpenter	8	0.00576	0.04608	Competitive Bidding
	G Clamp	150 mm	Carpenter	8	0.00612		Competitive Bidding
51	G Clamp	250 mm	Carpenter	4	0.00684	0.02736	Competitive Bidding
	T Bar Cramp	0.6 meter	Carpenter	8	0.00648		Competitive Bidding
53	T Bar Cramp	1.25	Carpenter	4	0.007056	0.028224	Competitive Bidding
54	Crimping Tool	RJ-45	COPA	5	0.0036		Competitive Bidding
		3.5 digit				0.02304	
55	Digital Multimeters	handheld type	COPA	4	0.00576		Competitive Bidding
						0.0144	
56	Screwdriver set	standard quality	СОРА	4	0.0036		Competitive Bidding
	Mini Dongle for	USB	СОРА	4	0.00432	0.01728	Competitive Bidding
	Sound system	02:01	СОРА	1	0.072		Competitive Bidding
	External Hard disk	1TB	СОРА	2	0.0432		Competitive Bidding
60	Patch panel	24 port	СОРА	2	0.036		Competitive Bidding
	'	UTP cat5 cable				0.009	
61	Lan tester	tester (RJ45)	СОРА	5	0.0018		Competitive Bidding
		For punching				0.0144	
		RJ45 socket with					
62	Punching tool	cat 5 cable	СОРА	5	0.00288		Competitive Bidding
	Software:MS Office	Latest version	СОРА	11	0.576	6.336	Competitive Bidding
		Validity more				0.792	p 0
64	Antivirus for clients	than year	СОРА	11	0.072		Competitive Bidding
	Software:Open office or	, , , ,				2.016	
65	equivalent	Latest version	СОРА	4	0.504		Competitive Bidding
	C- Clamp 200 mm	200mm.	Electrician	2	0	0.00864	Competitive Bidding
	C- Clamp 150 mm	150mm	Electrician	2	0		Competitive Bidding
	C- Clamp 100 mm	100mm	Electrician	2	0		Competitive Bidding
00	Spanner Adjustable	150mm 15	Electrician	1	0.00	0.002736	
60	150 mm 15 degree		Electriciali	1	0.00	0.002/30	Competitive Bidding
09	Spanner Adjustable	degree	Electricies	1	0.00	0.0036	Compeniive bidding
70	. ,	200	Electrician	1	0.00	0.0036	Commoditive Billi
/0	300mm	300mm.	F1	2	0.00	0.000000	Competitive Bidding
	Chisel Cold firmer 25		Electrician	2	0.00	0.002664	
71	mm X 200 mm	25mmx200mm	P1		0.00		Competitive Bidding
	Chisel 25 mm and 6		Electrician	2	0.00	0.002736	
	mm	6mmx25mm					Competitive Bidding
	Grease Gun		Electrician	1	0.00		Competitive Bidding
	Pipe vice		Electrician	4	0.03		Competitive Bidding
	Crimping Tool		Electrician	2	0.00	0.00864	Competitive Bidding
	Hammer Extractor		Electrician	4	0.00	0.01152	
76	type 0.40 kg						Competitive Bidding
_							

	m 0				0.00		
77	Try Square	150 mm blade	Electrician	4	0.00		Competitive Bidding
	Outside and Inside		Electrician	2	0.01	0.01584	
	Divider Calliper		_				Competitive Bidding
79	Drill hand brace	0-100 mm	Electrician	2	0.00		Competitive Bidding
	Drill S.S. Twist block	2 mm, 5 mm 6	Electrician	4	0.00	0.00432	
80		mm set of 3					Competitive Bidding
	Plane, smoothing		Electrician	2	0.01	0.01296	
81	cutters	50 mm					Competitive Bidding
82	File flat	200 mm 2nd cut	Electrician	4	0.00		Competitive Bidding
83	File half round	200 mm 2nd cut	Electrician	4	0.00	0.006912	Competitive Bidding
84	File round	200 mm 2nd cut	Electrician	4	0.00	0.006912	Competitive Bidding
85	File flat rough	150 mm	Electrician	4	0.00	0.008496	Competitive Bidding
86	File flat bastard	250 mm	Electrician	4	0.00	0.008928	Competitive Bidding
87	File flatsmooth	250 mm	Electrician	4	0.00	0.009792	Competitive Bidding
	File Rasp, half round		Electrician	4	0.00	0.005616	
88	1,	200 mm bastard					Competitive Bidding
	Soldering Iron	25 watt, 65 watt,	Electrician	2	0.00	0.00216	, , , , , , , , , , , , , , , , , , ,
89	001401111811011	125 watt		_			Competitive Bidding
	Copper bit soldering		Electrician	2	0.00	0.000576	
90	iron	0.25 watt		_			Competitive Bidding
	Hand Vice	50 mm jaw	Electrician	4	0.00	0.01152	Competitive Bidding
-	Pipe Cutter to cut	55 jun	Electrician	4	0.01	0.0432	competitive sidening
92	pipes	upto 5 cm. dia	Licetifelan	1	0.01	0.0132	Competitive Bidding
JZ	Pipe Cutter to cut	apto 5 cm. dia	Electrician	2	0.04	0.07488	competitive blading
ດວ	pipes	above 5 cm dia	Liectificiali	2	0.04	0.07488	Competitive Bidding
33	Stock and Die set	for 20 mm to 50	Electrician	1	0.01	0.0072	Competitive bluding
94	Stock and Die Set	mm G.I. pipe	Electrician	1	0.01	0.0072	Competitive Bidding
54	Stock and Dies	iiiii G.i. pipe	Electrician	1	0.01	0.00864	Competitive bluding
OΕ	conduit		Electrician	1	0.01	0.00804	Compotitive Ridding
95	Ohm Meter; Series		Electrician	2	0.01	0.01008	Competitive Bidding
00			Electrician	2	0.01	0.01008	Campatitiva Diddina
	Type & Shunt Type	0 5001/4 6	El-atoleia	1	0.02	0.0300	Competitive Bidding
97	A.C. Voltmeter M.I.	0 –500V A.C	Electrician	1	0.03		Competitive Bidding
	Milli Voltmeter centre	100 0 100	Electrician	1	0.00	0.00432	
00	zero	100 – 0 – 100 m					C
98	D.C. Milli	volt(Table Type)	TI	1	0.02	0.00004	Competitive Bidding
	D.C. Milli ammeter	0 -500m A	Electrician	11	0.02		Competitive Bidding
	Ammeter MC	0-5 A, 0- 25 A	Electrician	1	0.03		Competitive Bidding
	A.C. Ammeter M.I.	0-5A, 0-25 A	Electrician	1	0.02		Competitive Bidding
	A.C. Energy Meter,	Three	Electrician	1	0.02	0.01584	
		Phase 15 amp					
400		440v,induction					C B. I.I.
102		type	El . · ·	1	0.026	0.036	Competitive Bidding
	Wheat Stone Bridge		Electrician	1	0.036	0.036	
	with galvanometer						
	and battery						
103							Competitive Bidding
	Rheostat		Electrician	1		0.0072	
104		0 -1 Ohm, 5 Amp			0.01		Competitive Bidding
	Rheostat	0 -10 Ohm, 5	Electrician	1		0.0144	
105		Amp			0.01		Competitive Bidding
	Rheostat	0- 25 Ohm, 1	Electrician	1		0.018	
106		Amp			0.02		Competitive Bidding
	Rheostat	0- 300 Ohm, 1	Electrician	1		0.0252	
107		Amp			0.03		Competitive Bidding
107							

	Working Bench	2.5 m x 1.20 m x	Electrician	4		0.1008	
109	Working Denem	0.75 m	Liectrician	7	0.03	0.1008	Competitive Bidding
103	Fire Extinguisher CO <sub>2</sub> ,	0.73 111	Electrician	2	0.02	0.04752	competitive blading
110	ine Extinguisher 602,	2 KG	Liccuician		0.02	0.04732	Competitive Bidding
	Fire Buckets	Z KO	Electrician	2	0.00	0.00864	Competitive Bidding
	Growler		Electrician	1	0.00		Competitive Bidding
112	Load Bank( Lamp /		Electrician	1		0.0144	Competitive Bidding
112	heater Type)	E IZVAZ	Electrician	1	0.01	0.0144	Cananatitiva Biddina
113	Three phase	5 KW	Electrician	1	0.09	0.0864	Competitive Bidding
	transformer, shell	2 10 12 14 5 12 12	Electrician	1	0.09	0.0604	
	· ·	3 KVA , 415/240					
	type oil cooled with	V, 50 Hz ,					C B. I.I.
	all mounting	(Delta/Star)	Ela atoriai are	1	0.04	0.0422	Competitive Bidding
115	Function Generator		Electrician	1	0.04		Competitive Bidding
	Discrete Component		Electrician	1	0.09	0.0864	
	Trainer		<b>73</b>	_	2.25		Competitive Bidding
	Linear I.C. Trainer		Electrician	1	0.07		Competitive Bidding
118	Digital I.C. Trainer		Electrician	1	0.07		Competitive Bidding
			Electronic			0.00504	
119	Connecting Screw driver	10x 100 mm	Mechanic	7	0.00072		Competitive Bidding
			Electronic	_		0.003456	
120	Neon Tester	500 V	Mechanic	4	0.000864		Competitive Bidding
			Electronic	_		0.0252	
121	Screw Driver set	set of 7	Mechanic	7	0.0036		Competitive Bidding
422	insulated combination	450	Electronic		0.00252	0.01008	C B. I.I.
122	pliers	150 mm	Mechanic	4	0.00252	0.03360	Competitive Bidding
122	Insulated side cutting	150	Electronic	0	0.00353	0.02268	Commentition District
123	pliers	150 mm	Mechanic Electronic	9	0.00252	0.00216	Competitive Bidding
124	long nose pliers	150 mm	Mechanic	1	0.00216	0.00216	Competitive Bidding
124	long nose phers	130 11111	Electronic	1	0.00210	0.0144	Competitive bidding
125	soldering iron	25 watt,240 volt	Mechanic	5	0.00288	0.0144	Competitive Bidding
123	30idering non	25 Watt,240 Voit	Electronic	3	0.00288	0.006048	competitive blading
126	electrification knife	100 mm	Mechanic	7	0.000864	0.000040	Competitive Bidding
	Ciccimication kine	100 111111	Electronic	,	0.000001	0.003528	competitive blading
127	tweezers	150 mm	Mechanic	7	0.000504	0.000020	Competitive Bidding
		(3/4 digit,4000	Electronic	-	5.55555	0.0504	
128	Digital Multimeter	counts	Mechanic	10	0.00504		Competitive Bidding
	Soldering Iron		Electronic			0.01512	
129	changebale bits	15 watt, 240 volt	Mechanic	7	0.00216		Competitive Bidding
	De Soldering pump		Electronic			0.01944	
	electricatal		Mechanic				
	heayed,manual						
130	operators	230 V, 40 W		12	0.00162		Competitive Bidding
	Steel rule graduated		Electronic			0.001152	
	both in metric and		Mechanic				
131	english unit	300 mm		2	0.000576		Competitive Bidding
	Precision set of screw		Electronic			0.0072	
132	drivers	T5,T6,T7	Mechanic	2	0.0036		Competitive Bidding
			Electronic			0.000864	
133	tweezers-bend tip		Mechanic	2	0.000432		Competitive Bidding
			Electronic			0.00432	
134	steel meauring tape	3 meter	Mechanic	4	0.00108		Competitive Bidding
			Electronic			0.07308	
135	tools makers vice	100 mm	Mechanic	1	0.07308		Competitive Bidding
		50	Electronic			0.07308	
136	tools makers vice	50 mm	Mechanic	1	0.07308		Competitive Bidding

			Flootropio	1 1		0.0073	
127	crimping tool (pliers)	7 in 1	Electronic	١	0.0036	0.0072	Cananatitiva Biddina
137	crimping tool (pliers)	7 111 1	Mechanic	2	0.0036	0.00300	Competitive Bidding
120	Magneta enganes	0	Electronic		0.001.11	0.00288	
138	Magneto spanner set	8 spanners	Mechanic	2	0.00144	0.00316	Competitive Bidding
420	fie fiet beete ad	200	Electronic		0.004.00	0.00216	C B. I.I.
139	fle flat bastard	200 mm	Mechanic	2	0.00108	2 222	Competitive Bidding
			Electronic		2 2242	0.0036	
140	file flat secound cut	200 mm	Mechanic	2	0.0018		Competitive Bidding
			Electronic			0.003168	
141	foile flat smooth	200 mm	Mechanic	2	0.001584		Competitive Bidding
			Electronic			0.00432	
142	plier Flat Noise	150 mm	Mechanic	2	0.00216		Competitive Bidding
			Electronic			0.00432	
143	Round nose pliers	100 mm	Mechanic	2	0.00216		Competitive Bidding
			Electronic			0.001728	
144	Scriber straight	150 mm	Mechanic	2	0.000864		Competitive Bidding
			Electronic			0.00216	
145	Hammer ball pen	500 grams	Mechanic	1	0.00216		Competitive Bidding
		1-12mm,set of 24	Electronic			0.00216	
146	set of 9)	keys	Mechanic	1	0.00216		Competitive Bidding
			Electronic			0.00504	
147	Tubular box spanner	set 6-32 mm	Mechanic	1	0.00504		Competitive Bidding
			Electronic			0.00216	
148	Magnifer lenses	75 mm	Mechanic	1	0.00216		Competitive Bidding
			Electronic			0.000864	
149	Continuty tester		Mechanic	1	0.000864		Competitive Bidding
			Electronic			0.0216	
150	Bench vice	125 mm	Mechanic	1	0.0216		Competitive Bidding
			Electronic			0.02016	
151	Bench vice	100 mm	Mechanic	1	0.02016		Competitive Bidding
			Electronic			0.01944	
152	Bench vice	50 mm	Mechanic	1	0.01944		Competitive Bidding
			Electronic			0.00576	
153	first Aid Kit		Mechanic	1	0.00576		Competitive Bidding
	Dual DC Regulated		Electronic			0.144	
154	power supply	30-0-30 V,2 amps	Mechanic	4	0.036		Competitive Bidding
	DC regulated variable	•	Electronic			0.0324	·
	programmable DC Power		Mechanic				
155	supply	0-30 V/3A		1	0.0324		Competitive Bidding
	LCR Meter (Digital)	·	Electronic			0.0216	
156	Handled		Mechanic	1	0.0216		Competitive Bidding
			Electronic		5.5220	0.1224	1
157	Cro Dual Trace		Mechanic	1	0.1224	<b>-</b> -	Competitive Bidding
		10 hz to 100	Electronic			0.36	
	Signal Generator with		Mechanic			2,00	
	digital display for	(output					
158	frequency amplitude	impedance)		1	0.36		Competitive Bidding
		· · · · · ·	Electronic		2.30	0.0216	
159	Battery Charger	V,30 amp	Mechanic	1	0.0216	0.0210	Competitive Bidding
133		-,50p	Electronic		0.0210	0.004032	
160	Analog multimeter		Mechanic	2	0.002016	J.00-032	Competitive Bidding
100	aio <sub>b</sub> maitimeter		Electronic		0.002010	0.02736	compensive bidding
161	Clamp meter	0-10 nA	Mechanic	1	0.02736	0.02730	Competitive Bidding
101	Clarify Incici	0 10 11/1	····cciiailic		0.02730		competitive bluding

		1 mhz-10 mhz	Electronic			0.18	
		function-pulse-	Mechanic				
	function generator (DDS	modulation					
	Technology	generator with					
	(sine,square,trainagle,Ra	-					
	• • • • • • • • • • • • • • • • • • • •	frequency		_			
162	and Modulation	counter		2	0.09		Competitive Bidding
			Electronic			0.7344	
163	Dimmer Starter	3 amps	Mechanic	12	0.0612		Competitive Bidding
			Electronic			0.432	
164	Auto transformer	15 amps	Mechanic	2	0.216		Competitive Bidding
		·	Electronic			0.1152	
			Mechanic				
		Breadboard for					
		circuit dsign with					
		necessary DC/AC					
		power supply,					
		Sine,Square,train					
		gle modulating					
		signal generator					
	Analog component	and simulation					
165	trainer	software		4	0.0288		Competitive Bidding
103	traniei	Software	Electronic	4	0.0288		competitive bluding
1.00	NA:II: A	0.200			0.00224	0.00324	Communitation District
166	Milli Ammeter (AC)	0-200 ma	Mechanic	1	0.00324		Competitive Bidding
			Electronic			0.00324	
167	Milli Ammeter (AC)	0-500 ma	Mechanic	1	0.00324		Competitive Bidding
			Electronic			0.216	
168	Op Amp Trainer		Mechanic	1	0.216		Competitive Bidding
		Breadboard for	Electronic			0.1728	
		circuit dsign with	Mechanic				
		necassary of DC					
		power					
		I.*					
		supplu,Graphical					
		LCD, Clock					
		frequency 4					
		different					
		steps,data					
		switches:8 nos					
		LED Display 8 nos					
		(TTL) seven					
		segment					
		Display,Teaching					
		simulation					
	D: 11 LIGT :				2 2 4 5 -		
169	Digital IC Trainer	software		4	0.0432		Competitive Bidding
			Electronic			0.0576	
170	Digital IC tester		Mechanic	1	0.0576		Competitive Bidding
			Electronic			0.4536	
		DC?AC power	Mechanic				
		supply,sine/squar					
		e/TTL Generator					
		Data					
		Switches,LED					
		indication,LED					
		Display:8 in nos					
		Simulation/Teach					
	Digital and Analog Bread	ing content					
171	Board Trainer	through software		6	0.0756		Competitive Bidding
		-			-		

	Rheostats various values		Electronic			0.0792	
172	and ratigs		Mechanic	2	0.0396	0.0792	Competitive Bidding
1/2	and ratigs		Electronic		0.0390	0.432	competitive bluding
	Power Electronics		Mechanic			0.432	
			Mechanic				
	Trainer with at least 6						
	nos of application board						
	MOSFET Characteristics						
	SCR Charactericts SCR						
	lamp Flasher SCR Alarm						
	Circuit Series Inverter						
	Single Phase PWM						
173	inverter			4	0.108		Competitive Bidding
			Electronic			1.728	
	Computers in the		Mechanic				
	assembled form (						
	including						
	cabinet,motherboards,H						
	DD,DVD,SMPS,Blu- ray						
	drive and player)Ms						
174	office education version		1	4	0.432		Competitive Bidding
	Laptop latest		Electronic			0.396	1
175	Configuration		Mechanic	1	0.396		Competitive Bidding
			Electronic			0.108	,
176	Laser jet printer		Mechanic	1	0.108		Competitive Bidding
	Internet Broad band		Electronic			0.0432	p
177	Connection		Mechanic	1	0.0432		Competitive Bidding
		Circuit Design	Electronic	_	0.0.01	0	competitive stading
		and simulation	Mechanic			· ·	
		software with	IVICCITATIO				
		PCB Design with					
		Gerber and G					
		Code					
		Generation,3D					
		view of PCB,					
	_,	Breadboard					
	Electronic Circut	view,fault					
	simulation software with						
178	6 user licenses	simulation		1	0		Competitive Bidding
		Adjustable top	Fashion			0.6048	
179	Drawing table	desk	Technology	21	0.0288		Competitive Bidding
			Fashion			0.216	
180	Revolving chair		Technology	10	0.0216		Competitive Bidding
			Fashion			0.108	
181	Faculty table and chair		Technology	1	0.108		Competitive Bidding
			Fashion			0.108	
182	Storage almirah		Technology	1	0.108		Competitive Bidding
			Fashion			0.036	
183	Adjustable set square		Technology	10	0.0036		Competitive Bidding
	Air conditioner unit with		Fashion			0.324	
184	stabilizer	Split type	Technology	1	0.324		Competitive Bidding
			Fashion			0.2376	
185	Display board		Technology	3	0.0792		Competitive Bidding
			Fashion			0.0432	
186	Dress forms(Dummies)	children	Technology	2	0.0216		Competitive Bidding
	. ,		Fashion			0.504	
187	Tracing table		Technology	2	0.252		Competitive Bidding
	<del>-</del>		Fashion			0.432	
188	Single desks for trainees		Technology	20	0.0216		Competitive Bidding
		!					, ·

Computer set with UPS and multimedia   Fashion   190 projector   Fashion   191 bisplay board   Fashion   192 bisplay board   Fashion   192 bisplay board   Fashion   192 bisplay board   Fashion   193 Technology   2   0   0   0   0   0   0   0   0   0	189 arm	ms imputer set with UPS d multimedia ojector splay board issors ilors square g shaper irment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Technology  Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion	1 2 5 15 15 21 4	0.684 0 0.00144 0.00144 0 0.00144 0.0036	0.684 0 0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding  Competitive Bidding
Computer set with UPS and multimedia   Fashion   190 projector   Fashion   191 Display board   Technology   1   0.684   0.0072	190 proj 191 Disp 192 Sciss 193 Tailo 194 Leg 195 Garr 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	mputer set with UPS d multimedia ojector splay board issors ilors square g shaper irment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Fashion Technology Fashion	1 2 5 15 15 21 4	0.684 0 0.00144 0.00144 0 0.00144 0.0036	0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding
and multimedia	and 190 proj  191 Disp  192 Sciss  193 Tailo  194 Leg :  195 Garr  196 Scree  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Steee 204 briti 205 Try s  206 Calip	d multimedia ojector splay board issors ilors square g shaper arment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Technology Fashion	2 5 15 15 21 4	0 0.00144 0.00144 0 0.00144 0.0036	0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding
190   projector	190 proj  191 Disp  192 Sciss  193 Tailo  194 Leg :  195 Garr  196 Scree  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Steee  204 briti  205 Try s  206 Calip	splay board sissors silors square g shaper arment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Technology Fashion	2 5 15 15 21 4	0 0.00144 0.00144 0 0.00144 0.0036	0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding
191   Display board	191 Disp 192 Sciss 193 Taild 194 Leg 195 Garr 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	splay board sissors silors square g shaper arment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Fashion Technology Fashion	2 5 15 15 21 4	0 0.00144 0.00144 0 0.00144 0.0036	0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding
191   Display board	192 Sciss  193 Tailo  194 Leg  195 Garr  196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	issors ilors square g shaper irment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Technology Fashion	5 15 15 21 4	0.00144 0.00144 0 0.00144 0.0036	0.0072 0.0216 0 0.03024 0.0144	Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
192   Scissors   25cm   Technology   5   0.00144   0.0072   Competitive Biddin   193   Tailors square   Technology   15   0.00144   0.0216   Competitive Biddin   194   Leg shaper   Technology   15   0   0.00144   Competitive Biddin   195   Garment hangers   Technology   15   0   0.00144   Competitive Biddin   196   Screwdriver set   Technology   21   0.00144   Competitive Biddin   196   Screwdriver set   Technology   21   0.00144   Competitive Biddin   196   Screwdriver set   Technology   4   0   0.0036   Competitive Biddin   197   Table sharpner   Technology   4   0   Competitive Biddin   198   Pressing table   Technology   3   0.00864   Competitive Biddin   199   Pressing table   Technology   3   0.00864   Competitive Biddin   199   Pressing table   Technology   4   0.0216   Competitive Biddin   199   Pressing table   Technology   5   0.00216   Competitive Biddin   199   Pressing table   Technology   5   0.000504   Competitive Biddin   199   Pressing table   Technology   6   0.00252   Competitive Biddin   199   Pressing table   Technology   7   Technology   8   0.00144   Competitive Biddin   190   Pressing table   150 mm   Fitter   10   0.000576   Competitive Biddin   190   Pressing table   150 mm   Fitter   12   0.00288   Competitive Biddin   190   Pressing table   150 mm   Fitter   12   0.000432   0.00384   Competitive Biddin   100   10	192 Sciss  193 Tailo  194 Leg  195 Garr  196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	issors ilors square g shaper irment hangers rewdriver set ble sharpner essing table anket for padding of essing table	25cm	Fashion Technology Fashion	5 15 15 21 4	0.00144 0.00144 0 0.00144 0.0036	0.0216 0 0.03024 0.0144	Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding
192   Scissors   25cm	193 Tailo 194 Leg : 195 Garr 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	g shaper  g shaper  grewdriver set  ble sharpner  essing table anket for padding of essing table	25cm	Technology Fashion	15 15 21 4	0.00144 0 0.00144 0.0036	0.0216 0 0.03024 0.0144	Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
Fashion	193 Tailo 194 Leg : 195 Garr 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	g shaper  g shaper  grewdriver set  ble sharpner  essing table anket for padding of essing table	25011	Fashion Technology Fashion	15 15 21 4	0.00144 0 0.00144 0.0036	0.03024 0.0144	Competitive Bidding Competitive Bidding Competitive Bidding Competitive Bidding
193   Tailors square	194 Leg :  195 Garr  196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	g shaper  rewdriver set  ble sharpner  essing table anket for padding of essing table		Technology Fashion	15 21 4	0.00144 0.0036	0.03024 0.0144	Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
194   Leg shaper	194 Leg :  195 Garr  196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	g shaper  rewdriver set  ble sharpner  essing table anket for padding of essing table		Fashion Technology Fashion	15 21 4	0.00144 0.0036	0.03024 0.0144 0	Competitive Bidding Competitive Bidding Competitive Bidding
194   Leg shaper	195 Garri 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	rewdriver set ble sharpner essing table anket for padding of essing table		Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion	4	0.00144 0.0036 0	0.03024 0.0144 0	Competitive Bidding  Competitive Bidding  Competitive Bidding
Technology	195 Garri 196 Scre 197 Tabl 198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	rewdriver set ble sharpner essing table anket for padding of essing table		Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion Technology Fashion	4	0.00144 0.0036 0	0.0144	Competitive Bidding Competitive Bidding
195   Garment hangers	196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	rewdriver set  ble sharpner  essing table anket for padding of essing table		Technology Fashion Technology Fashion Technology Fashion Technology Fashion	4	0.0036	0.0144	Competitive Bidding Competitive Bidding
Fashion	196 Scre  197 Tabl  198 Pres  Blan  199 pres  200 Rub  201 Spra  202 Was  203 Patt  Stee  204 briti  205 Try s  206 Calip	rewdriver set  ble sharpner  essing table anket for padding of essing table		Fashion Technology Fashion Technology Fashion Technology Fashion	4	0.0036	0	Competitive Bidding
196   Screwdriver set	197 Tabl  198 Pres Blan 199 pres  200 Rub  201 Spra  202 Was  203 Patt  Steet 204 briti 205 Try s  206 Calip	ble sharpner essing table anket for padding of essing table		Technology Fashion Technology Fashion Technology Fashion	4	0	0	Competitive Bidding
Table sharpner	197 Tabl  198 Pres Blan 199 pres  200 Rub  201 Spra  202 Was  203 Patt  Steet 204 briti 205 Try s  206 Calip	ble sharpner essing table anket for padding of essing table		Fashion Technology Fashion Technology Fashion	4	0		
197 Table sharpner	198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	essing table anket for padding of essing table		Technology Fashion Technology Fashion				
Pressing table	198 Pres Blan 199 pres 200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	essing table anket for padding of essing table		Fashion Technology Fashion			2 225	
198   Pressing table   Technology   3   0.00864   Competitive Biddin   199   pressing table   Technology   4   0.0216   Competitive Biddin   199   pressing table   Technology   4   0.0216   Competitive Biddin   199   Pressing table   Technology   5   0.00216   Competitive Biddin   199   190	200 Rubi 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	anket for padding of essing table		Technology Fashion	3			
Blanket for padding of pressing table	200 Rubi 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s	anket for padding of essing table		Fashion	3		0.02592	
199   pressing table	200 Rubi 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	essing table				0.00864		
Pashion   Technology   S   D.00216   Competitive Biddin   Fashion   D.00252   Competitive Biddin   Fashion   D.00252   Competitive Biddin   Fashion   D.000576   Competitive Biddin   D.001152   Competitive Biddin   Fashion   D.001152   Competitive Biddin   Fashion   D.00116   Competitive Biddin   Fashion   D.0016   Competitive Biddin   Fashion   D.00576   Competitive Biddin   D.00576   Competitive Biddin   D.00576   Competitive Biddin   D.00576   Competitive Biddin   D.000576   Competitive Biddin   D.0005776   Competitive Biddin   D.0005776   D.0005776   Competitive Biddin   D.0005784   Competitive Biddin   D.0005784   Competitive Biddin   D.0005784   Competitive Biddin   D.0005784   D.000578	200 Rub 201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s			Technology	1		0.0864	
200   Rubber mat	201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	bber mat			4	0.0216		Competitive Bidding
Fashion   Technology   5   0.000504   0.00252   Competitive Bidding   Fashion   0.01152   Technology   8   0.00144   Competitive Bidding   Fashion   0.0216   Competitive Bidding   Fashion   0.0216   Competitive Bidding   Fashion   0.0054   Competitive Bidding	201 Spra 202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip	bber mat		Fashion			0.0108	
201   Sprayer	202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip			Technology	5	0.00216		Competitive Bidding
Fashion   Technology   8   0.00144   0.01152   Competitive Bidding   0.0216   Competitive Bidding   0.00576   Competitive Bidding   0.005576   Competitive Bidding   0.	202 Was 203 Patt Stee 204 briti 205 Try s 206 Calip			Fashion			0.00252	
202   Waste bin	203 Patt Stee 204 briti 205 Try s 206 Calip	rayer		Technology	5	0.000504		Competitive Bidding
Fashion Technology  A 0.0054  Competitive Bidding  Steel rule with metric & 150 mm, stainless steel Britter  Try square  150 mm blade  Fitter  10  10.000576  Competitive Bidding  0.00576  Competitive Bidding  0.000576  Competitive Bidding  0.00108  Competitive Bidding  0.00108  Competitive Bidding  0.009504  Competitive Bidding  0.009504  Competitive Bidding  0.0033696  Caliper inside spring type  150 mm  Fitter  12  0.000792  Competitive Bidding  0.033696  Caliper outside spring  208 type  150 mm  Fitter  12  0.002808  Competitive Bidding  0.034128  Competitive Bidding  0.034128  Competitive Bidding  100 Divider spring type  150 mm  Fitter  12  0.000432  0.005184  Competitive Bidding  100 mm and  150 mm insulated  150 mm insulated  150 mm insulated  150 mm x150 mm  Fitter  16  0.001584  Competitive Bidding  0.025344  Competitive Bidding  0.025344	203 Patt Stee 204 briti 205 Try s 206 Calip			Fashion			0.01152	
Pattern punch	Stee 204 briti 205 Try s 206 Calip	aste bin		Technology	8	0.00144		Competitive Bidding
Steel rule with metric & 150 mm, stainless steel Fitter 10 0.000576 Competitive Bidding 150 mm blade Fitter 10 0.000576 Competitive Bidding 150 mm Fitter 12 0.000792 Competitive Bidding 150 mm Fitter 12 0.000792 Competitive Bidding 150 mm Fitter 12 0.002808 Competitive Bidding 150 mm Fitter 12 0.002804 Competitive Bidding 150 mm Fitter 12 0.002804 Competitive Bidding 150 mm Fitter 12 0.000432 0.005184 Competitive Bidding 150 mm Fitter 12 0.0007776 Competitive Bidding 10 mm and 10 0.007776 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mminsulated 150 mm Fitter 160 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 160 0.001296 Competitive Bidding 150 mm Fitter 160 0.	Stee 204 briti 205 Try s 206 Calip			Fashion			0.0216	
Steel rule with metric & 150 mm, stainless steel Fitter 10 0.000576 Competitive Bidding 150 mm blade Fitter 10 0.000576 Competitive Bidding 150 mm Fitter 12 0.000792 Competitive Bidding 150 mm Fitter 12 0.000792 Competitive Bidding 150 mm Fitter 12 0.002808 Competitive Bidding 150 mm Fitter 12 0.002804 Competitive Bidding 150 mm Fitter 12 0.002804 Competitive Bidding 150 mm Fitter 12 0.000432 0.005184 Competitive Bidding 150 mm Fitter 12 0.0007776 Competitive Bidding 10 mm and 10 0.007776 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 150 0.001296 Competitive Bidding 150 mminsulated 150 mminsulated 150 mm Fitter 160 0.001296 Competitive Bidding 150 mminsulated 150 mm Fitter 160 0.001296 Competitive Bidding 150 mm Fitter 160 0.	204 briti 205 Try s 206 Calip	ttern punch		Technology	4	0.0054		Competitive Bidding
204 british graduation   Steel   Fitter   10   0.000576   Competitive Bidding   205 Try square   150 mm blade   Fitter   10   0.00108   0.0108   Competitive Bidding   0.009504   Competitive Bidding   0.009504   Competitive Bidding   0.0033696   Caliper hermaphrodite   207 spring type   150 mm   Fitter   12   0.002808   Competitive Bidding   Caliper outside spring   0.034128   Competitive Bidding   208 type   150 mm   Fitter   12   0.002844   Competitive Bidding   209 Divider spring type   150 mm   Fitter   12   0.000432   0.005184   Competitive Bidding   210 Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   211 Centre punch   length 10 mm   Fitter   6   0.001296   Competitive Bidding   0.025344   212 Screw driver   type   Fitter   16   0.001584   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   20 mm x150mm   20 mm x150mm   0.005184   Competitive Bidding   20 mm x150mm   2	204 briti 205 Try s 206 Calip	·		-			0.00576	
205   Try square   150 mm blade   Fitter   10   0.00108   0.0108   Competitive Bidding   0.009504	205 Try s	eel rule with metric &	150 mm, stainless					
205   Try square   150 mm blade   Fitter   10   0.00108   0.0108   Competitive Bidding   0.009504	205 Try s	itish graduation	· ·	Fitter	10	0.000576		Competitive Bidding
206   Caliper inside spring type   150 mm   Fitter   12   0.000792   0.009504   Competitive Bidding   0.033696	206 Calip		150 mm blade	Fitter	10	0.00108	0.0108	
206 Caliper inside spring type 150 mm Fitter 12 0.000792 Competitive Bidding 0.033696  Caliper hermaphrodite 207 spring type 150 mm Fitter 12 0.002808 Competitive Bidding 0.034128 208 type 150 mm Fitter 12 0.002844 Competitive Bidding 209 Divider spring type 150 mm Fitter 12 0.000432 0.005184 Competitive Bidding 210 Scriber straight 150 mm Fitter 12 0.00072 0.00864 Competitive Bidding 10 mm and 10 mm and 10 mm and 10 mm and 10 mm Fitter 12 0.001296 Competitive Bidding 150 mm Fitter 150 mm Fitter 150 mm Fitter 150 0.001296 Competitive Bidding 150 mm Fitter 150 mminsulated 150 mm Fitter 150 0.001584 Competitive Bidding 150 mm 150 mm Fitter 150 0.001584 Competitive Bidding 150 mm 150 mm Fitter 150 0.001584 Competitive Bidding 150 mm 150								
Caliper hermaphrodite   207 spring type   150 mm   Fitter   12   0.002808   Competitive Bidding   0.034128   Competitive Bidding   208 type   150 mm   Fitter   12   0.002844   Competitive Bidding   209 Divider spring type   150 mm   Fitter   12   0.000432   0.005184   Competitive Bidding   210 Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   210 Centre punch   length 10 mm   Fitter   6   0.001296   Competitive Bidding   0.025344   150 mminsulated   150 mminsulated   212 Screw driver   type   Fitter   16   0.001584   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   0.005184   Competit		liper inside spring type	150 mm	Fitter	12	0.000792		
Caliper hermaphrodite   207 spring type   150 mm   Fitter   12   0.002808   Competitive Bidding   0.034128     208 type   150 mm   Fitter   12   0.002844   Competitive Bidding   209 Divider spring type   150 mm   Fitter   12   0.000432   0.005184   Competitive Bidding   210 Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   211 Centre punch   length 10 mm   Fitter   6   0.001296   Competitive Bidding   0.025344   150 mminsulated   150 mminsulated   212 Screw driver   type   Fitter   16   0.001584   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   0.005184   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   0.0	Calir					0.000732	0.033696	
207 spring type		liner hermanhrodite					0.033030	
Caliper outside spring   208 type   150 mm   Fitter   12   0.002844   Competitive Bidding   209 Divider spring type   150 mm   Fitter   12   0.000432   0.005184   Competitive Bidding   210 Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   211 Centre punch   length 10 mm   Fitter   6   0.001296   Competitive Bidding   0.025344   150 mminsulated   212 Screw driver   type   Fitter   16   0.001584   Competitive Bidding   0.005184   Competitive Bidding   0.005184   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   0.005184   Competitive Bidding   20 mm x150mm   0.005184   Competitive Bidding   0.005184	1 1	·	150 mm	Fittor	12	0 003808		Competitive Ridding
208 type         150 mm         Fitter         12         0.002844         Competitive Bidding           209 Divider spring type         150 mm         Fitter         12         0.000432         0.005184         Competitive Bidding           210 Scriber straight         150 mm         Fitter         12         0.00072         0.00864         Competitive Bidding           10 mm and length 10 mm         6         0.001296         Competitive Bidding           211 Centre punch         150 mminsulated         0.025344         Competitive Bidding           212 Screw driver         type         Fitter         16         0.001584         Competitive Bidding           20 mm x150mm         0.005184         0.005184         Competitive Bidding		,	130 11111	ricci	12	0.002000	0.02/128	
209   Divider spring type   150 mm   Fitter   12   0.000432   0.005184   Competitive Bidding   210   Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   0.007776   Competitive Bidding   0.007776   Competitive Bidding   0.025344   150 mminsulated   150 mminsulated   212   Screw driver   150 mm x150mm   150 mm x150mm   0.005184   Competitive Bidding   0.005184	1 1		150 mm	Eittor	12	0 002044	0.034128	
210   Scriber straight   150 mm   Fitter   12   0.00072   0.00864   Competitive Bidding   0.007776							0.005104	· · · · · · · · · · · · · · · · · · ·
10 mm and   0.007776     Competitive Bidding   0.0025344								
211 Centre punch         length 10 mm         Fitter         6         0.001296         Competitive Bidding           150 mminsulated         150 mminsulated         Competitive Bidding           212 Screw driver         type         Fitter         16         0.001584         Competitive Bidding           20 mm x150mm         0.005184	ZIO SCIII	inei stiaigiit		rittei	12	0.00072		
150 mminsulated   150 mminsulated   150 mminsulated   150 mminsulated   150 mminsulated   150 mminsulated   150 mm x150 mm   16   16   17   17   18   18   18   18   18   18	244 C-	ntro nun-b		Fittor.	ا _ ا	0.001303	0.007776	
150 mminsulated   150 mminsulated   150 mminsulated   150 mm   1	ZII Cent	пие рипсп	lengui 10 mm	ritter	6	0.001296	0.00=0:-	· · · · · · · · · · · · · · · · · · ·
212 Screw driver         type         Fitter         16         0.001584         Competitive Bidding           20 mm x150mm         0.005184			450				0.025344	
20 mm x150mm 0.005184								
	212 Scre	row driver	• •	Fitter	16	0.001584		Competitive Bidding
213 Chisel cold flate   high carboon   Fitter   6   0.000864   Competitive Bidding		iew unver					0.005184	
								Competitive Bidding
214 Hammer ball pen 450grams Fitter 3 0.0018 0.0054 Competitive Biddin		isel cold flate	450grams	Fitter	3	0.0018		
hammer ball pen with 0.0036		isel cold flate mmer ball pen					0.0036	
		isel cold flate mmer ball pen mmer ball pen with	1	Fitter		0.0018		Competitive Bidding
216 file flat secound cut250 mmFitter60.0015840.009504 Competitive Bidding	216 file f	isel cold flate mmer ball pen mmer ball pen with	220 grams	Fitter	6	0.001584	0.009504	Competitive Bidding
217 file flat smooth 250mm Fitter 7 0.00612 0.04284 Competitive Biddin	217 file f	isel cold flate immer ball pen mmer ball pen with ndle		Eittor	7	0.00612	0.04284	Competitive Bidding
218 File half round2nd cut 150mm Fitter 10 0.00828 0.0828 Competitive Bidding	218 File	isel cold flate Immer ball pen mmer ball pen with ndle e flat secound cut	250 mm	rittei			0.01204	

	I						1
240	hacksaw frame fixed	200	F:44	40	0.00224	0.0324	
	type	300 mm	Fitter	10	0.00324	0.04720	Competitive Bidding
	safety googles	100	Fitter	16	0.00108		Competitive Bidding
221	Dot Punch	100 mm	Fitter	10	0.002304		Competitive Bidding
	Steel rule graduated					0.00144	
	both in metric and	300 mm stainless					
222	english unit	steel	Fitter	4	0.00036		Competitive Bidding
						0.0648	
223	Starght edge steel	300 mm or above	Fitter	2	0.0324		Competitive Bidding
						0.00252	
		300 mm basic					
		length Accuaracy					
224	Sprit level metal type	0.1 mm/meter	Fitter	1	0.00252		Competitive Bidding
225	Micro meter outside	0-25 mm	Fitter	2	0.0216	0.0432	Competitive Bidding
226	Micro meter outside	25-50mm	Fitter	2	0.0216	0.0432	Competitive Bidding
227	Micro meter outside	50-75mm	Fitter	2	0.0216	0.0432	Competitive Bidding
		Accuarcy 0.01				0.19872	
		mm with					
	Micro meter outside with	extension rods					
228	extension rods	upto 150 mm	Fitter	2	0.09936		Competitive Bidding
229	vernier caliper	150 mm	Fitter	4	0.00432	0.01728	Competitive Bidding
		0-300 mm with				0.35712	
		least count=0.02					
230	vernier height gauges	mm	Fitter	2	0.17856		Competitive Bidding
	wire gauge ,metric					0.00504	, ,
231	standard	0.25 to 6 mm	Fitter	1	0.00504		Competitive Bidding
	Marking Table (mild					0.04176	
232	steel)	900c900x900 mm	Fitter	1	0.04176		Competitive Bidding
	15.55.7			_	0.0.1270	0.00144	- Competitive Didding
233	Universal Scripping Block	220 mm	Fitter	1	0.00144	0.00211	Competitive Bidding
233	oniversal semponing block	220 11111	111101	-	0.00111	0.02736	competitive blading
234	V block pair with Champs	150x100x100 mm	Fitter	2	0.01368	0.02730	Competitive Bidding
	v block pair with champs	130X100X100 IIIII	11001	_	0.01300	0.04032	competitive blading
235	Angle plate	150x150x250 mm	Fittor	2	0.02016	0.04032	Competitive Bidding
233		5,6,8,10 and 12	Tittei		0.02010	0.09648	competitive blading
236	l ·	mm set of 5	Fitter	2	0.04824	0.03048	Competitive Bidding
230	JCT .	111111 300 01 3	ricci		0.04024	0.02592	competitive blading
227	file feather edge smooth	150 mm	Fitter	4	0.00648	0.02392	Competitive Bidding
	file triangular smooth	200 mm	Fitter	4	0.002808	0.011222	Competitive Bidding
	file round secound cut	200 mm	Fitter	4	0.002808		
259	ille round secound cut	200 111111	ritter	4	0.013908		Competitive Bidding
240	file square secound cut	250 mm	Eittor	, a	0.001872	0.007488	Compotitive Bidding
240		250 mm	Fitter	4	0.001872	0.0504	Competitive Bidding
	Modular writting tray		lataria:			0.9504	
	chairs with adjustable		Interior				
	pad for theory class		Decorator &		0.0100		
241	room		Designing	22	0.0432		Competitive Bidding
			Interior			0.9072	
	Drawing boards fixed	700	Decorator &				
242	over adjustable stand	700 mm x 500mm	Designing	21	0.0432		Competitive Bidding
						0.792	
		seat-450 mm	Interior				
	Draughtsman stool with	(W)x 450 mm (D)	Decorator &				
243	back (revolving type)	50 mm (thick)	Designing	22	0.036		Competitive Bidding
			Interior			0.3456	
			Decorator &				
244	Chest of Drawers	wooden	Designing	4	0.0864		Competitive Bidding

	<u> </u>		to a south		1	2 2 2 2 2	
		unitale London Li	Interior			0.07056	
		with lockable	Decorator &		0.07056		
245	Steel book case	glass shutters	Designing	1	0.07056		Competitive Bidding
			Interior			0.1368	
			Decorator &		0.0004		
246	Instructor Table	with glass top	Designing	2	0.0684	2 2== 2	Competitive Bidding
			Interior			0.0756	
	instructor's revolving		Decorator &		0.0756		
247	with ar chair		Designing	1	0.0756	2 222	Competitive Bidding
			Interior			0.0396	
			Decorator &				
248	Visitors revolving chair		Designing	1	0.0396	0.4044	Competitive Bidding
			Interior			0.1044	
240	Steel Almirah with		Decorator &		0.4044		C B. L.
249	shelves		Designing	1	0.1044	0.0576	Competitive Bidding
	D: 1 1/ ::1		Interior			0.0576	
250	Pin up board (with or		Decorator &				
250	without stand)		Designing	4	0.0144		Competitive Bidding
			Interior			0.0108	
			Decorator &	_			
251	claw hammer		Designing	5	0.00216		Competitive Bidding
			Interior			0.01512	
			Decorator &				
252	Metallic tape	30 meter long	Designing	2	0.00756		Competitive Bidding
			Interior			0.0756	
	directional Magnetic		Decorator &				
253	Compass		Designing	21	0.0036		Competitive Bidding
			Interior			0.0756	
			Decorator &				
254	Metric Tape -5M		Designing	21	0.0036		Competitive Bidding
			Interior			0.054	
			Decorator &				
255	Calculator scientific		Designing	5	0.0108		Competitive Bidding
			Interior			0.12096	
			Decorator &				
256	flexi curve	80 cm	Designing	21	0.00576		Competitive Bidding
			Interior			0.009	
			Decorator &				
257	Electronic glue gun		Designing	5	0.0018		Competitive Bidding
			Interior			0.0252	
			Decorator &				
258	hand drill machine		Designing	5	0.00504		Competitive Bidding
						0.72	
		with latest					
		configuration					
		(Vista & Above)					
		pre loaded with	Interior				
	Laptop latest	operating system	Decorator &				
259	Configuration	and MS office	Designing	2	0.36		Competitive Bidding
			Interior			2.448	
	Drafting software like		Decorator &				
260	Auto CAD		Designing	20	0.1224		Competitive Bidding
			Interior			13.392	
	3D modeling software		Decorator &				
261	like Max, revit etc.		Designing	20	0.6696		Competitive Bidding
			Interior			0.1044	
			Decorator &				
262	steek almirah	small size	Designing	1	0.1044		Competitive Bidding

			Interior			0.324	
262	2D Dl - ++		Decorator &		0.224		Canada atiti ya Dishiina
263	3D Plotter		Designing	1	0.324	0.246	Competitive Bidding
			Interior			0.216	
	LIBS ON LINE		Decorator &		2 2 4 5		
264	UPS ONLINE		Designing	1	0.216		Competitive Bidding
			Interior			1.296	
	Computer work station (		Decorator &	20	2 25 42		
265	module type)		Designing	20	0.0648	0.1000	Competitive Bidding
	5		Interior			0.1296	
200	Printer table (module		Decorator &	2	0.0648		Camanatitiva Diddina
200	type)		Designing Interior	2	0.0648	0.0422	Competitive Bidding
			Decorator &			0.0432	
267	internet connection wifi			1	0.0422		Camanatitiva Diddina
267	internet connection wifi		Designing	1	0.0432	0.0013	Competitive Bidding
			Interior Decorator &			0.0612	
260	Vacum daanar			1	0.0613		Compositive Ridding
208	Vacum cleaner		Designing Interior	1	0.0612	0.0216	Competitive Bidding
			Decorator &			0.0216	
260	Shoe Rack		Decorator & Designing	1	0.0216		Competitive Bidding
209	SHOE NACK		Interior		0.0210	0.2592	Competitive Bidding
	LED Projector latest		Decorator &			0.2392	
270	model with white screen			1	0.2592		Compositive Ridding
270	model with white screen		Designing Interior	1	0.2592	0.252	Competitive Bidding
	interactive board with		Decorator &			0.232	
271	complete accessores		Designing	1	0.252		Competitive Bidding
2/1	complete accessores		Interior		0.232	1.6632	Competitive bidding
	Circular and oval		Decorator &			1.0032	
272	template		Designing	21	0.0792		Competitive Bidding
212	template	set of 12 pieces	Motor	21	0.0732	0.00864	competitive blading
273	Allen Key	_	Mechanic	6	0.00144	0.00804	Competitive Bidding
2/3		(2111111 to 14111111)	Motor		0.00144	0.00432	Competitive bidding
274	Calipers outside	15 cm spring	Mechanic	6	0.00072	0.00432	Competitive Bidding
2/4		0.5 kg with	Motor		0.00072	0.00864	competitive bidding
275	Hammer ball peen	handle	Mechanic	6	0.00144	0.00804	Cananatitiva Biddina
2/3	Hands file. Second cut	Handle			0.00144	0.00864	Competitive Bidding
276		20 cm	Motor	6	0.004.44	0.00864	C B. I.I.
	flat	(100 + 200	Mechanic		0.00144	0.04720	Competitive Bidding
	Philips Screw Driver	(100 mm to 300		6		0.01728	
277	set of 5 pieces	mm)	Mechanic		0.00288		Competitive Bidding
	Pliers combination .	20 cm	Motor	6		0.00864	
278			Mechanic		0.00144	2 22 422	Competitive Bidding
	Screw driver	20cm.X 9mm.	Motor	6		0.00432	
279		Blade	Mechanic		0.00072		Competitive Bidding
	Screw driver 30 cm. X		Motor	6		0.005184	
280	9 mm. Blade		Mechanic		0.000864		Competitive Bidding
	Spanner D.E. set of 12	(6mm to 32mm)	Motor	6		0.03024	
281	pieces	(omin to 32mm)	Mechanic	U	0.00504		Competitive Bidding
	Spanner, ring set of 12	6 to 32 mm	Motor	6	$\Box$	0.03456	
282	metric sizes .	0 10 32 11111	Mechanic	U	0.00576		Competitive Bidding
	Spanners socket with	upto 32 mm set		6		0.1944	
	speed handle, T-bar,	of 28 pieces	Motor				
283	ratchet and universal	with box	Mechanic		0.0324		Competitive Bidding
		400x200x150				0.0432	
	Steel tool box with lock	mm made of 22	Motor	6			
284	and key (folding type)	gauge sheet	Mechanic		0.0072		Competitive Bidding
<u> </u>	!	J 6					

			Motor			0.00648	
285	Wire cutter and stripper		Mechanic	6	0.00108		Competitive Bidding
	AC alternator slip ring		Motor	1	0.0100	0.0108	Cananatitiva Diddina
	puller		Mechanic		0.0108	0.00536	Competitive Bidding
	Adjustable spanner		Motor	2		0.00576	
287 (	(pipe wrench 350 mm)		Mechanic		0.00288		Competitive Bidding
	Air Brake Assembly		Motor	1.		0.108	
288	Till Brake Hissemory		Mechanic		0.108		Competitive Bidding
	Air impact wrench with					0.288	
	standard accessories		Motor	4			
289	standard accessories		Mechanic		0.072		Competitive Bidding
	Air ratchet with		Motor	4		0.144	
290	standard accessories		Mechanic	4	0.036		Competitive Bidding
	Allen Key set of 12	(2mm to	Motor	,		0.00576	
	pieces	14mm)	Mechanic	4	0.00144		Competitive Bidding
	Ammeter DC with	2 12222)				0.01728	8
	external shunt table	300A/ 60A	Motor	4		0.01/10	
			Mechanic	+	0.00432		Compotitive Ridding
292 1	type				0.00432	0.0432	Competitive Bidding
202	Angle plate adjustable	250x150x175	Motor	1	0.0422	0.0432	Commontation District
293	C 1 3		Mechanic		0.0432	0.000	Competitive Bidding
		size				0.072	
4	Angle plate	200x100x200m	Motor	2			
294		m	Mechanic		0.036		Competitive Bidding
	Anvil 50 Kgs with		Motor	1		0.036	
295	Stand		Mechanic	1	0.036		Competitive Bidding
	Auto Electrical test		Motor			0.072	
296 1	bench		Mechanic	1	0.072		Competitive Bidding
			Motor			0.01152	, , , , , , , , , , , , , , , , , , ,
297	Blow Lamp	1 litre	Mechanic	2	0.00576		Competitive Bidding
			Motor			0.00288	8
298	Caliper inside	15 cm Spring	Mechanic	4	0.00072		Competitive Bidding
			Motor			0.00288	compensive blading
299	Calipers outside	15 cm spring	Mechanic	4	0.00072	0.00200	Competitive Bidding
	Car Jet washer with		Motor		0.00072	0.1296	competitive blading
	standard accessories		Mechanic	1	0.1296	0.1230	Competitive Bidding
300 8	standard accessories		Mechanic		0.1290	0.0216	Competitive bluding
	G 1 .	Solex for Maruti		1		0.0210	
	Carburetor –	Suzuki 800	Motor	1			
301			Mechanic		0.0216		Competitive Bidding
1 1	Carburetor Mikuny		Motor	1		0.018	
302	- Cure ure to 1 1 1 1 1 unity		Mechanic	-	0.018		Competitive Bidding
		3 ton capacity				0.072	
		with tripod					
(	Chain Pulley Block-	stand made of		1			
		thick 4" channel	Motor				
303		steel	Mechanic		0.072		Competitive Bidding
	CIL L. CI.		Motor	,		0.003456	
304	Chisel flat	10 cm	Mechanic	4	0.000864		Competitive Bidding
			Motor			0.00576	,
305	Chisels cross cut	200 mm X 6mm	Mechanic	4	0.00144		Competitive Bidding
	Circlip pliers		Motor		0.001-14	0.00108	compensive blading
		15cm	Mechanic	1	0.00100	0.00108	Compotitive Bidding
	Expanding type				0.00108	0.00400	Competitive Bidding
	Circlip pliers	15cm	Motor	1		0.00108	
	contracting type		Mechanic		0.00108	_	Competitive Bidding
I 19	Circlip pliers	20cm	Motor	1		0.00144	
	Expanding type		Mechanic		0.00144	i e	Competitive Bidding

	a			1			
	Circlip pliers	20cm	Motor	1		0.00144	
309	contracting type		Mechanic		0.00144		Competitive Bidding
	Clamps C	100mm	Motor	2		0.00216	
310	1		Mechanic		0.00108	2 22222	Competitive Bidding
244	Clamps C	150mm	Motor	2	0.00444	0.00288	6 5.11.
311	1		Mechanic		0.00144	2.0026	Competitive Bidding
242	Clamps C	200mm	Motor	2	2 2242	0.0036	
312	1	45.20.0	Mechanic		0.0018	0.0204.6	Competitive Bidding
		45x30 x8cm				0.02016	
		made of 22					
	Cleaning tray	gauge		4			
		galvanised steel					
313		sheet	Mechanic		0.00504		Competitive Bidding
	Coil spring compressor					0.0108	
	for suspension spring		Motor	1			
314			Mechanic		0.0108		Competitive Bidding
	Copper bit soldering	0.25 Kg	Motor	4		0.00864	
315	iron	0.23 Kg	Mechanic		0.00216		Competitive Bidding
	Cut section Model of			1		0.072	
	Mock layout of a motor						
	car -electrical system		Motor				
316	working model		Mechanic		0.072		Competitive Bidding
	Cut section models of		Motor	1		0.00576	
317	shock absorbers		Mechanic	1	0.00576		Competitive Bidding
	Cut section of cross ply		Motor	1		0.00288	
318	and radial tyres		Mechanic	1	0.00288		Competitive Bidding
	Cut section working					0.072	
	model of automatic		Motor	1			
319	transmission Gear box		Mechanic		0.072		Competitive Bidding
	Cylinder bore gauge	20 to 160 mm	Motor	4		0.0432	
320	capacity	20 to 100 mm	Mechanic	4	0.0108		Competitive Bidding
	Cylindan linan Wat tyma		Motor	2		0.0216	
321	Cylinder liner Wet type		Mechanic	3	0.0072		Competitive Bidding
	Cylinder liner- Dry					0.01728	
	liner, press fit &		Motor	3			
322	slidefit liner		Mechanic		0.00576		Competitive Bidding
		0 / 200 01				0.01152	<u> </u>
		0 to 300 Ohms,					
	DC Ohmmeter	mid scales at 20		2			
		Ohms Table	Motor				
323		type	Mechanic		0.00576		Competitive Bidding
	Demonstration board of					0.036	
	Ignition system,	2W	Motor	1			
324	ignition coil		Mechanic		0.036		Competitive Bidding
	Demonstration board of				2.300	0.036	
	electronic Ignition		Motor	1			
325	system, ignition coil		Mechanic	_ ^	0.036		Competitive Bidding
525	Demonstration board of		Motor		3.330	0.072	
326	MPFI system		Mechanic	1	0.072	0.072	Competitive Bidding
320	Different type of piston		Motor		5.572	0.036	
227	model (set of Six)		Mechanic	1	0.036	0.030	Competitive Bidding
327	Disk brake with caliper		Motor		0.030	0.0432	compensive bluding
278	assembly		Mechanic	2	0.0216	0.0432	Competitive Bidding
320	Distributor –Duel		Motor		0.0210	0.00864	Compenies bluming
220	reluctance type		Mechanic	1	0.00864		Competitive Pidding
329	refuctance type		ivieciialiic		0.00864		Competitive Bidding

			Motor	1		0.00300	
330	Dividers Spring	15 cm	Motor Mechanic	4	0.00072	0.00288	Competitive Bidding
331	Drift Punch Copper	15 Cm	Motor Mechanic	4	0.00144	0.00576	Competitive Bidding
332	Drill point angle gauge		Motor Mechanic	1	0.00108	0.00108	Competitive Bidding
332		1.5 mm to 15	Wiechanic		0.00108	0.0288	competitive bluding
	Duill tarriet	mm (various		4			
	Drill twist	sizes) by 0.5	Motor	4			
333		mm	Mechanic		0.0072		Competitive Bidding
	Drum brake assembly		Motor	1	0.0100	0.0108	
334	<u> </u>		Mechanic Motor		0.0108	0.00288	Competitive Bidding
335	Electric Soldering Iron	230 V 60 watts	Mechanic	2	0.00144	0.00288	Competitive Bidding
	Elastria Caldarina Iran	220 M 25	Motor	2		0.00144	
336	Electric Soldering Iron	230 V 25 watts	Mechanic	2	0.00072		Competitive Bidding
	Engineers stethoscope		Motor	1		0.0108	
337			Mechanic		0.0108	0.0108	Competitive Bidding
220	Executive Auto Electrical tool kit		Motor Mechanic	1	0.0108	0.0108	Compositive Bidding
336		20 blades	Motor		0.0108	0.00864	Competitive Bidding
339	Feeler gauge	(metric)	Mechanic	4	0.00216	0.00001	Competitive Bidding
	T21 (1 . 1 1	,	Motor	4		0.00576	
340	File flat bastard	20 cm	Mechanic	4	0.00144		Competitive Bidding
	File, half round second	20 cm	Motor	4		0.00576	
341	cut	20 cm	Mechanic	T	0.00144		Competitive Bidding
	File, Square second cut	20 cm	Motor	4		0.00576	
342			Mechanic Motor		0.00144	0.00864	Competitive Bidding
343	File, Square round	30 cm	Mechanic	4	0.00216	0.00864	Competitive Bidding
0.0	File, triangular second		Motor		0.00220	0.00432	Journal of the state of the sta
344		15 cm	Mechanic	4	0.00108		Competitive Bidding
	Files assorted sizes and					0.0288	
	types including safe		Motor	2			
345	edge file (20 Nos)		Mechanic		0.0144		Competitive Bidding
346	Flat File second cut	25 cm	Motor Mechanic	4	0.0018	0.0072	Campatitiva Biddina
340			Motor		0.0018	0.009216	Competitive Bidding
347	Flat File bastard	35 cm	Mechanic	4	0.002304	0.003210	Competitive Bidding
	Fuel feed pump for		Motor	1		0.0072	
348	diesel		Mechanic	1	0.0072		Competitive Bidding
	Fuel injection pump					0.108	
	dismantling tool kit		Motor	1			
349	/Universal Vice		Mechanic	1	0.108	0.400	Competitive Bidding
	Fuel injection pump Distributor fuel rotary			1		0.432	
	pump along with						
	special tools and		Motor				
350	accessories.		Mechanic		0.432		Competitive Bidding
	Semi-floating axle		Motor	1		0.0108	
351	assembly on stand		Mechanic	1	0.0108		Competitive Bidding
	Semi floating axle		Motor	1		0.0108	
352	assembly on stand		Mechanic	1	0.0108		Competitive Bidding
	Functional/experiment		<u>.</u> .	4		0.36	
252	model of different type		Motor	1	0.36		Compositive Bidding
353	of sensors (set)		Mechanic	J.	0.36		Competitive Bidding

			lsa .			0.00156	
354	Garage stand		Motor Mechanic	4	0.00864	0.03456	Competitive Bidding
355	Leather welding gloves pair		Motor Mechanic	5	0.00144	0.0072	Competitive Bidding
356	Glow plug tester		Motor Mechanic	2	0.0432	0.0864	Competitive Bidding
330		1600 x 1000	Mechanic		0.0432	0.0576	Competitive Bluding
357	Granite surface plate	with stand and cover	Motor Mechanic	1	0.0576		Competitive Bidding
	Grease Gun	cover	Motor	2		0.00864	
358	Grease Gun heavy duty		Mechanic Motor		0.00432	0.072	Competitive Bidding
359	trolley type	10 kg capciaty	Mechanic	1	0.072		Competitive Bidding
360	Hacksaw frame	30 cm heavy duty	Motor Mechanic	10	0.000864	0.00864	Competitive Bidding
361	Hammer Ball Peen	0.75 Kg	Motor Mechanic	4	0.00216	0.00864	Competitive Bidding
	Hammer Chipping	0.25 Kg	Motor	5		0.0036	
362	Hammer copper with		Mechanic Motor		0.00072	0.0288	Competitive Bidding
363	handle	1 Kg	Mechanic	4	0.0072		Competitive Bidding
364	Hammer Mallet		Motor Mechanic	4	0.000432	0.001728	Competitive Bidding
365	Hammer Plastic		Motor Mechanic	4	0.00108	0.00432	Competitive Bidding
303	Hand operated	10mm	Wicename	2	0.00100	0.00504	compensive bloams
	crimping tool (i) for crimping up to (ii) for		Motor				
366	crimping up to		Mechanic		0.00252		Competitive Bidding
	Hand reamers	10.5 to 11.25		1		0.0108	
	adjustable	mm, 11.25 to					
		12.75 mm,					
		12.75 to 14.25					
		mm and 14.25					
		to 15.75 mm	Motor				
367		(set)	Mechanic		0.0108		Competitive Bidding
368	Hand Shear Universal	250mm	Motor Mechanic	2	0.00144	0.00288	Competitive Bidding
369	Hand vice –	37 mm	Motor Mechanic	2	0.00108	0.00216	Competitive Bidding
	Hollow Punch set of	6mm to 15mm	Motor	2		0.0072	
370	seven pieces	(set)	Mechanic Motor		0.0036	0.00864	Competitive Bidding
371	Horn and Horn relay		Mechanic	2	0.00432		Competitive Bidding
372	Impact screw driver		Motor Mechanic	2	0.0108	0.0216	Competitive Bidding
2=5	Injector – Multi hole		Motor	4	0.0466	0.0432	Commentation Billing
373	type		Mechanic Motor		0.0108	0.0432	Competitive Bidding
374	Injector - Pintle type		Mechanic	4	0.0108	0.0073	Competitive Bidding
375	Injector cleaning unit		Motor Mechanic	1	0.0072	0.0072	Competitive Bidding
376	Injector testing set (Hand tester)		Motor Mechanic	1	0.0432	0.0432	Competitive Bidding
3,0	Insulated Screw driver	20 cm x 9mm blade	Motor Mechanic	4		0.00288	Competitive Bidding
377	illisulated Sciew dilver				0.00072		

		20 0				0.002450	
378	Insulated Screw driver	30 cm x 9mm blade	Motor Mechanic	4	0.000864	0.003456	Competitive Bidding
379	Left cut snips	250mm	Motor Mechanic	4	0.0018	0.0072	Competitive Bidding
380	Lifting jack screw type	3 ton capacity	Motor Mechanic	1	0.00864	0.00864	Competitive Bidding
381	Lifting jack screw type	5ton capacity	Motor Mechanic	1	0.01008	0.01008	Competitive Bidding
382	Lifting jack screw type	20 Ton capacity	Motor Mechanic	1	0.01152	0.01152	Competitive Bidding
383	Magnifying glass	75mm	Motor Mechanic	2	0.00108	0.00216	Competitive Bidding
	Marking out table	90X60X90 cm. (adjustable	Motor	1		0.0648	
384	Marking out table	stand)	Mechanic	1	0.0648		Competitive Bidding
385	Multi-point fuel injection pump		Motor Mechanic	2	0.18	0.36	Competitive Bidding
386	Oil can	0.25 liter capacity	Motor Mechanic	4	0.000576	0.002304	Competitive Bidding
	Oil pump for dismantling and	1 ,	Matar	2		0.0072	
387	assembling.		Motor Mechanic	2	0.0036		Competitive Bidding
388	Oil Stone	15 cm x 5 cm x 2.5 cm	Motor Mechanic	1	0.00216	0.00216	Competitive Bidding
389	Oscilloscope	20MHz	Motor Mechanic	1	0.1728	0.1728	Competitive Bidding
390	Philips Screw Driver set of 5 pieces	(100 mm to 300 mm)	Motor Mechanic	2	0.00288	0.00576	Competitive Bidding
	Piston Ring expander and remover.	,	Motor Mechanic	2	0.00216	0.00432	Competitive Bidding
	Piston Ring groove		Motor	2		0.00144	
	cleaner.  Pliers combination	20 cm.	Mechanic Motor	2	0.00072	0.00288	Competitive Bidding
393	Pliers flat nose	15 cm	Mechanic Motor	2	0.00144	0.00216	
394		15 cm	Mechanic Motor		0.00108	0.00216	Competitive Bidding
395	Pliers side cutting  Portable electric drill	15 CIII	Mechanic Motor	2	0.00108	0.0108	Competitive Bidding
	Machine		Mechanic Motor	1	0.0108	0.00144	Competitive Bidding
397	Prick Punch	15 cm	Mechanic	4	0.00036		Competitive Bidding
398	Punch Letter (Number) set	4mm	Motor Mechanic	2	0.00108	0.00216	Competitive Bidding
399	Radiator cut section- cross flow		Motor Mechanic	1	0.0108	0.0108	Competitive Bidding
400	Radiator cut section- down flow		Motor Mechanic	1	0.0108	0.0108	Competitive Bidding
401	Radiator pressure cap		Motor Mechanic	2	0.00108	0.00216	
	Right cut snips	250mm	Motor Mechanic	2	0.0018	0.0036	
	Rivet sets snap and Dolly combined	3mm, 4mm,	Motor Mechanic	2		0.0072	, ,
	Scraper flat	6mm (set) 25 cm	Motor	2	0.0036	0.001152	
404			Mechanic		0.000576		Competitive Bidding

			Motor			0.001152	
405	Scraper half round	25 cm	Mechanic	2	0.000576	0.001132	Competitive Bidding
406	Scraper Triangular	25 cm	Motor Mechanic	2	0.000576	0.001152	Competitive Bidding
407	Scriber	15 cm	Motor Mechanic	2	0.00036	0.00072	Competitive Bidding
408	Scriber with scribing black universal		Motor Mechanic	2	0.00432	0.00864	Competitive Bidding
	Set of stock and dies – (set)	Metric	Motor Mechanic	2	0.018	0.036	Competitive Bidding
410	Shear Tin Man's	450 mm x 600mm	Motor Mechanic	2	0.036	0.072	Competitive Bidding
411	Sheet Metal Gauge		Motor Mechanic	2	0.0036	0.0072	Competitive Bidding
412	Sher Tinmans	300mm	Motor Mechanic	4	0.0018	0.0072	
413	Soldering Copper Hatchet type	500gms	Motor Mechanic	2	0.0036	0.0072	Competitive Bidding
414	Solid Parallels in pairs	(Different size) in Metric (set)	Motor Mechanic	2	0.036	0.072	Competitive Bidding
415	Spanner Clyburn	15 cm	Motor Mechanic	1	0.001152	0.001152	Competitive Bidding
416	Spanner D.E. set of 12 pieces	(6mm to 32mm)	Motor Mechanic	4	0.00504	0.02016	Competitive Bidding
	Spanner T. flocks for screwing up and up- screwing inaccessible		Motor	2		0.0072	. 3
417	position Spanner, ring set of 12	6 to 32 mm.	Mechanic Motor	4	0.0036	0.02304	Competitive Bidding
418	metric sizes	0 to 32 mm.	Mechanic	4	0.00576	0.0576	Competitive Bidding
419	Spanners socket with speed handle, T-bar, ratchet and universal complete set in box		Motor Mechanic	2	0.0288	0.0576	Competitive Bidding
420	Spark lighter		Motor Mechanic	2	0.00144	0.00288	Competitive Bidding
421	Spark plug spanner	14mm x 18mm x Size	Motor Mechanic	2	0.00108	0.00216	
	Starter motor pre- engagement type	•	Motor Mechanic	1	0.0576	0.0576	1
	Starter motor Co-axial type		Motor Mechanic	1	0.0576	0.0576	
424	Steel rule	15 cm inch and metric		4	0.000144	0.000576	
425	Steel rule		Motor Mechanic	4	0.000216	0.000864	
	Steering assembly - Rack & pinion working on stand		Motor Mechanic	1	0.072	0.072	Competitive Bidding
720	Steering assembly - Worm & roller working		Motor	1	0.072	0.072	competitive bidding
427	on stand  Steering assembly -		Mechanic	1	0.072	0.072	Competitive Bidding
428	Recirculating ball working on stand		Motor Mechanic	1	0.072	3.372	Competitive Bidding

				T .	T		T
	Steering assembly -			1		0.144	
	Power steering working		Motor				
429	on stand		Mechanic		0.144		Competitive Bidding
	0. 11. 1	0.0	Motor	2		0.00576	
430	Straight edge gauge	2 ft.	Mechanic	2	0.00288		Competitive Bidding
			Motor			0.00864	
431	Straight edge gauge	4 ft.	Mechanic	2	0.00432		Competitive Bidding
731	Stud remover with		Motor		0.00432	0.00432	competitive blading
422				1	0.00422	0.00432	Camanatitiva Diddina
432	socket handle		Mechanic		0.00432	0.0400	Competitive Bidding
	Surface gauge with dial					0.0432	
	test indicator plunger	0.01 mm	Motor	4			
433	type i.e.		Mechanic		0.0108		Competitive Bidding
	Tachometer (Counting		Motor	1		0.0108	
434	type)		Mechanic	1	0.0108		Competitive Bidding
	Tandem master		Motor			0.144	
435	cylinder with booster		Mechanic	4	0.036		Competitive Bidding
733	Taps and Dies				0.030	0.0288	1
420	~		Motor	1	0.0300	0.0288	
436	complete sets BSF		Mechanic		0.0288	0.0===	Competitive Bidding
	Taps and wrenches -	metric	Motor	2		0.0576	
437	_		Mechanic		0.0288		Competitive Bidding
	Temperature gauge	0-100 deg c	Motor	2		0.0144	
438	with sensor	0-100 deg c	Mechanic		0.0072		Competitive Bidding
	(TDI		Motor	2		0.0072	
439	Thermostat		Mechanic	2	0.0036		Competitive Bidding
	Thread pitch gauge		Motor			0.00432	,
440	metric, BSW		Mechanic	2	0.00216		Competitive Bidding
440	metric, D5 W		Motor		0.00210	0.0144	
444	Torque wrenches	5-35 Nm		1	0.01.11	0.0144	
441	-		Mechanic		0.0144		Competitive Bidding
	Torque wrenches	12-68 Nm	Motor	1		0.018	
442	1		Mechanic		0.018		Competitive Bidding
	Torque wrenches	50-225 Nm	Motor	1		0.0216	
443	Torque wrenenes	30 223 TVIII	Mechanic	•	0.0216		Competitive Bidding
	Trammel	30 cm	Motor	2		0.00576	
444	Hammer	30 CIII	Mechanic	2	0.00288		Competitive Bidding
	T 1		Motor	1		0.00864	
445	Tread wear indicator		Mechanic	1	0.00864		Competitive Bidding
	Tyre & split rim wheel		Motor			0.0288	
446	assembly		Mechanic	1	0.0288		Competitive Bidding
. 40	Tyre pressure gauge				3.02.00	0.0072	
447			Motor	2	0.0026	0.0072	
44/	with holding nipple		Mechanic	1	0.0036	2 22==	Competitive Bidding
	Universal puller for					0.0072	
	removing pulleys,		Motor	1			
448	bearings		Mechanic		0.0072		Competitive Bidding
		75 20				0.01008	
	V' Block	75 x 38 mm pair	Motor	2			
449		with Clamps	Mechanic		0.00504		Competitive Bidding
	Vacuum assisted				3.33301	0.072	pearing
						0.072	
	hydraulics brake		L	1			
	assembly with vacuum		Motor				
450	booster		Mechanic		0.072		Competitive Bidding
	Vacuum gauge	to read 0 to 760	Motor	2		0.0288	
451	v acuum gauge	mm of Hg.	Mechanic		0.0144		Competitive Bidding
	M.1 . I 'C.		Motor	4		0.00252	
452	Valve Lifter		Mechanic	1	0.00252		Competitive Bidding
			Motor	_		0.0036	
453	Vice grip pliers		Mechanic	2	0.0018	5.5550	Competitive Bidding
	i .			1		L	1

	I	T	ı	1			I
	Water pump for					0.0576	
	dismantling and		Motor	4			
454	assembling		Mechanic		0.0144		Competitive Bidding
			Motor			0.01152	
455	Wheel cylinder		Mechanic	4	0.00288		Competitive Bidding
			Motor		0.00200	0.0144	
456	Wiper motor assembly		Mechanic	2	0.0072	0.0144	Competitive Bidding
430			Motor		0.0072	0.0072	Competitive bluding
457	Wire Gauge (metric)			2	0.0006	0.0072	6 5.11.
457	,		Mechanic		0.0036		Competitive Bidding
		250 x 120 x 60				0.288	
		cm made of					
	Wantahanah	75x6mm angle		4			
	Work bench	iron with 2"		4			
		Deodar wood	Motor				
458			Mechanic		0.072		Competitive Ridding
436		top	Motor		0.072	0.42024	Competitive Bidding
	Bench vice	with 12 cm jaw		16		0.13824	
459		,	Mechanic		0.00864		Competitive Bidding
	Working Model of		Motor	1		0.072	
460	power windows		Mechanic	1	0.072		Competitive Bidding
	Working model of		Motor	1		0.072	
461	torque converter		Mechanic	1	0.072		Competitive Bidding
			Motor			0.0072	p 0
462	4 Point relays		Mechanic	2	0.0036	0.0072	Competitive Bidding
702			Motor		0.0030	0.00864	competitive bluding
463	5 Point relays			2	0.00422	0.00804	Commentation District
463	•		Mechanic		0.00432		Competitive Bidding
	Bench vice	with 6" jaw	Motor	4		0.03456	
464	Benen 1100	with o jaw	Mechanic	-	0.00864		Competitive Bidding
	Bench vice	with 4" jaw	Motor	4		0.0288	
465	Delicii vice	with + jaw	Mechanic	-	0.0072		Competitive Bidding
	A * . 1 * 1		Motor	1		0.576	
466	Air bag simulator		Mechanic	1	0.576		Competitive Bidding
	Air conditioning trainer		Motor			0.144	
467	_		Mechanic	1	0.144		Competitive Bidding
407	Arbor press hand		Motor		0.144	0.072	competitive blading
460		2 ton capacity		1	0.072	0.072	Commentation District
468	operated		Mechanic		0.072		Competitive Bidding
	Automotive exhaust	5 gas analyzer		1		1.08	
		(petrol &					
		Diesel) or					
		Diesel Smoke	Motor				
469		Meter	Mechanic		1.08		Competitive Bidding
			Motor			0.0216	
470	Bench lever shears	3mm Capacity		1	0.0216	0.0210	
4/0	Diagnote Comment	Jillii Capacity	Mechanic	1	0.0216	0.000:	Competitive Bidding
	Discrete Component			1		0.0864	
	Trainer / Basic		Motor				
471	Electronics Trainer		Mechanic		0.0864		Competitive Bidding
			Sewing			0.0054	
472	Measuring tape		Technology	15	0.00036		Competitive Bidding
			Sewing			0.00576	_
473	Seam ripper		Technology	10	0.000576		Competitive Bidding
			Sewing			0.00432	
474	Thimble		Technology	20	0.000216	0.00 132	Competitive Bidding
7/4	Tailors card scale		Sewing	20	0.000210	0.00936	
175				_	0.001073	0.00936	
4/5	triangular		Technology	5	0.001872	2.25	Competitive Bidding
			Sewing			0.009	
476	Tailors square	plastic	Technology	5	0.0018		Competitive Bidding
		_	Sewing			0.01944	
477	French curve	set of three	Technology	10	0.001944		Competitive Bidding

			Sewing	I	ı	0.00144	
478	Thread cutter	24"	Technology	10	0.000144	0.00144	Competitive Bidding
170			Sewing	10	0.000111	0.00144	competitive blading
479	Scale plastic		Technology	10	0.000144	0.002	Competitive Bidding
	,		Sewing			0.0108	, , , , , , , , , , , , , , , , , , ,
480	Scissors	25cm	Technology	5	0.00216		Competitive Bidding
			Sewing			0.0216	-
481	Leg shaper	plastic	Technology	10	0.00216		Competitive Bidding
			Sewing			0.0144	
482	Garment hangers		Technology	10	0.00144		Competitive Bidding
			Sewing			0.0072	
483	Screw driver set		Technology	2	0.0036		Competitive Bidding
			Sewing			0.0144	
484	Table sharpner		Technology	4	0.0036		Competitive Bidding
			Sewing			0.0432	
	Pressing table		Technology	4	0.0108		Competitive Bidding
	Blanket for padding of		Sewing			0.0864	
486	pressing table		Technology	4	0.0216		Competitive Bidding
			Sewing			0.0144	
487	Rubber mat		Technology	5	0.00288		Competitive Bidding
	_		Sewing	_		0.00252	
488	Sprayer		Technology	5	0.000504		Competitive Bidding
			Sewing			0.01152	
489	Waste bin		Technology	8	0.00144		Competitive Bidding
	- · ·		Sewing			0.0162	
490	Pattern punch		Technology	3	0.0054		Competitive Bidding
	5 · · · · · · ·		Sewing			0.00504	
491	Pattern Notcher		Technology	2	0.00252		Competitive Bidding
400	Datta on banada a stand		Sewing	2	0.00064	0.01728	Commentation District
492	Pattern hanging stand		Technology	2	0.00864	0.00703	Competitive Bidding
400	14/-tt	CO1:-	Sewing	4	0.00703	0.00792	Camara atiti ya Dishiina
	Water tub	60cm dia	Technology	1	0.00792	0.0422	Competitive Bidding
	Stand for hanging		Sewing	_	0.00064	0.0432	Camanatitiva Diddina
494	dresses Trail room with three	3side mirror of	Technology	5	0.00864	0.0422	Competitive Bidding
40E	side mirrors	size 150x60cm	Sewing	1	0.0432	0.0432	Competitive Bidding
493	Electric automatic steam	Size 150x00cm	Technology Sewing	1	0.0432	0.05184	Competitive Bluding
406	press		Technology	4	0.01296	0.05164	Competitive Bidding
	Revolving chair		Stenography	20	0.01230	0.422	Competitive Bidding
437	revolving chair	Latest version	Steriography	20	0.0210	3.564	
108	Computer	with latest OS	Stenography	11	0.324		Competitive Bidding
	Laptop	Latest version	Stenography	1	0.36		Competitive Bidding
733		(12locker) with	otenography		0.30	0.36	compensive bluding
500	Pigeon hole locker	external lock	Stenography	2	0.18	0.30	Competitive Bidding
	Book case	CACCITICITION	Stenography	1	0.0864	0 0864	Competitive Bidding
	Steel Almirah		Stenography	1	0.108		Competitive Bidding
	UPS	650VA	Stenography	11	0.036		Competitive Bidding
	Fax machine	Latest model	Stenography	1	0.144		Competitive Bidding
	-		.0	=	5.2.1	0.0432	1
505	Broad Band connection		Stenography	1	0.0432	0.0102	Competitive Bidding
	LED Tv	36 inch	Stenography	1	0.216	0.216	Competitive Bidding
	Latest computer wih		Tourist Guide	10	0.288	2.88	
	internet and multimedia						
507	facility						Competitive Bidding
•	UPS FOR NODES	500 VA/OFFLINE	Tourist Guide	10	0.02592	0.2592	
508							Competitive Bidding
	Laser jet color Printer		Tourist Guide	2	0.144	0.288	1 2 2 3
509	•				- "		Competitive Bidding
					ļ.		

	Political maps		Tourist Guide	21	0.00144	0.03024	
510	Political maps		Tourist Guide	21	0.00144	0.03024	Competitive Bidding
	Road maps		Tourist Guide	21	0.0036	0.0756	·
511							Competitive Bidding
	Mobile public addres		Tourist Guide	1	0.0072	0.0072	
512	system				2.11		Competitive Bidding
F13	Optical Scanner		Tourist Guide	1	0.144	0.144	Compositivo Biddina
513	Web Cam (Digital		Tourist Guide	21	0.0045	0.0945	Competitive Bidding
514	camera)		Tourist duide	21	0.0043	0.0943	Competitive Bidding
311	Tents(Vango,valle and		Tourist Guide	2	0.54	1.08	competitive blading
515	Mammmutl						Competitive Bidding
	Vedio Camera		Tourist Guide	1	1.08	1.08	
516							Competitive Bidding
	Still Digital Camera		Tourist Guide	1	0.36	0.36	
517							Competitive Bidding
		with standard	Tractor			0.0072	
518	Air Blow gun	accessiors	Mechanic	1	0.0072	2.21	Competitive Bidding
F10	A in loss of a transport	with standard	Tractor	4	0.054	0.216	Compositivo Biddina
519	Air Impact wrench	accessories with standard	Mechanic Tractor	4	0.054	0.2592	Competitive Bidding
520	Air Rachet	accessiores	Mechanic	4	0.0648	0.2592	Competitive Bidding
320	All Nacrice	accessiores	Tractor	-	0.0048	0.2304	competitive blading
521	Battery Charger	(tunger Type)	Mechanic	2	0.1152	0.230 1	Competitive Bidding
	Compression testing	7,1-7				0.0432	
	gauge Suitable for diesel		Tractor				
522	engine		Mechanic	2	0.0216		Competitive Bidding
			Tractor			0.072	
523	Depth Micrometer	0-25 mm	Mechanic	4	0.018		Competitive Bidding
						0.0864	
		complete with					
		clamping devices					
524	Dila Gauge type 1 Gr A	and stand	Mechanic	4	0.0216		Competitive Bidding
-25	high Rate Discharger	( II ++)	Tractor		0.026	0.036	C B. L.
525	tester	(cell tester)	Mechanic	1	0.036	0.0072	Competitive Bidding
E26	Snark lighter		Tractor Mechanic	2	0.0036	0.0072	Compotitive Bidding
320	Spark lighter		Tractor		0.0036	0	Competitive Bidding
527	Spring tension tester		Mechanic	2	0	O	Competitive Bidding
327	opining consistin costs.		Tractor		J	0.00864	
528	Stud Extractor set of 3		Mechanic	2	0.00432		Competitive Bidding
	Stud remover with		Tractor			0.01152	. 3
529	socket handle		Mechanic	1	0.01152		Competitive Bidding
						0.0576	
	Surface gauge with dial						
	test indicator plunger		Tractor				
530	type i.e 0.01 mm		Mechanic	1	0.0576		Competitive Bidding
F0:	T-1		Tractor	_	0.004	0.0864	Commentity Billi
531	Telescope gauge		Mechanic	4	0.0216	0.004.0	Competitive Bidding
E22	Tomporature Cause		Tractor	ا ا	0.0100	0.0216	Compositive Bidding
532	Temperature Gauge		Mechanic Tractor	2	0.0108	0.0144	Competitive Bidding
522	thermostat		Mechanic	2	0.0072	0.0144	Competitive Bidding
233	Thread pitch gaudge		Tractor		0.0072	0.0036	compensive bluding
534	metric,BSW		Mechanic	1	0.0036	0.0030	Competitive Bidding
	, .	0 to 760 mm of	Tractor	-	5.5550	0.03456	1
535	Vaccum gauge	Hg.	Mechanic	4	0.00864		Competitive Bidding

			T	1		0.0204.6	
	wire gauge ,metric		Tractor			0.02016	
536	standard		Mechanic	4	0.00504		Competitive Bidding
	3 furrow disc plough with		Tractor			0.18	
537	scrapersyk		Mechanic	1	0.18		Competitive Bidding
						0.0288	
	Arbor press hand		Tractor				
538	operated 2 ton capacity		Mechanic	1	0.0288		Competitive Bidding
						1.08	
		(petrol and					
	Automative Exhaust 5	Diesel) or diesel	Tractor				
539	gas analyzer	smoke meter	Mechanic	1	1.08		Competitive Bidding
		250 mm blade x 3				1.08	
540	Bench lever shears	mm capacity	Mechanic	1	1.08		Competitive Bidding
	Discrete Component					0	
	Trainer/Basic Electronic		Tractor				
541	Trainer		Mechanic	1	0		Competitive Bidding
	Caliper outside spring	150 mm	Turner	12	0.000792	0.009504	
542	joint						Competitive Bidding
	Caliper outside spring	150 mm	Turner	12	0.00108	0.01296	
543	joint						Competitive Bidding
	Caliper odd- egg firm	150 mm	Turner	12	0.0018	0.0216	
544	joint						Competitive Bidding
	Steel rule	150 mm,	Turner	12	0.00036	0.00432	<u> </u>
		Graduated both					
		in metric and					
545		English Unit					Competitive Bidding
	Scriber	150 mm x3 mm	Turner	12	0.00108	0.01296	Competitive Bidding
	Hammer Ball pen	250 mg with	Turner	12	0.0018	0.0216	
547	Transition basis period	handle			0.0010	0.0210	Competitive Bidding
	Centre Punch	100 mm	Turner	12	0.001872	0.022464	Competitive Bidding
_	Princk Punch	100 mm	Turner	12	0.003096		Competitive Bidding
	Divider Spring Joint	150 mm	Turner	12	0.003888		Competitive Bidding
	Safety goggles		Turner	12	0.003888		Competitive Bidding
331	Surface Plate-Granite	1000x1000 mm	Turner	1	0.00144	0.00252	
	Sanace Flate-Granite	with stand and	Tarrier		0.00232	0.00232	
552							Competitive Bidding
332	Work bench	240x120x90cm	Turner	1	0	0	
EE2	WORK DETICIT		Turrier	1	U	U	
553	Marking Table (CI)	high	Turner		0.70	^	Competitive Bidding
	Marking Table (CI)	120x120 cm	Turner		0.72		Competitive Bidding
	Bench vice	125mm jaw	Turner	6	0.01008		Competitive Bidding
	V-Block	150x100x100 mm	Turner	1	0.1296	0.1296	
		with Clamp					
		(hardened &					
556		Ground)	_				Competitive Bidding
	Universal Surface gauge	250 mm arm	Turner	2	0.00216	0.00432	
557							Competitive Bidding
	Hammer Ball pen	750 gm with	Turner	6	0.00432	0.02592	
558		handle					Competitive Bidding
559	Chosel cold flate	20x150 mm	Turner	6	0.0018		Competitive Bidding
	Hammer copper/bras	500 gm with	Turner	12	0.0108	0.1296	
560		handle					Competitive Bidding
	Hacksaw fixed	200 mm (pistol	Turner	6	0.00288	0.01728	
561		grip)					Competitive Bidding
	File flat	300 mm (rough)	Turner	6	0.00216	0.01296	Competitive Bidding
	File flat	250 mm 2 <sup>nd</sup> cut	Turner	6	0.00216	0.01296	Competitive Bidding
	File flat	250 mm smooth	Turner	6	0.00216		Competitive Bidding
	File half Round	250 mm 2 <sup>nd</sup> cut	Turner	6	0.00252		Competitive Bidding
202		200 mmi 2 Cut			0.00232	0.01312	Icompensive blacking

	File Dayand	250 mans and a ath	T	<u></u>	0.00353	0.01512	
566	File Round	250 mm smooth	Turner	6	0.00252	0.01512	Competitive Bidding
567	File half Round	150 mm smooth	Turner	6	0.00252	0.01512	Competitive Bidding
568	Knurling tool revolving head	(Rough,med,fine) diamond and straight)	Turner	6	0.01728	0.10368	Competitive Bidding
569	Combination set	300 mm (Complete Set)	Turner	6	0.03456	0.20736	Competitive Bidding
570	Screw driver	10x 200 mm	Turner	1	0.00144	0.00144	Competitive Bidding
	Spanner double ended	6 mm to 21 mm	Turner	2	0.00612	0.01224	
571							Competitive Bidding
572	Spanner adjustable	200 mm	Turner	2	0.00288		Competitive Bidding
	Pilers flat nose	150 mm side	Turner	15	0.00144	0.0216	
573		cutting					Competitive Bidding
574	Caliper transfer inside	150 mm	Turner	3	0.004032	0.012096	Competitive Bidding
	Micrometer Outside	0 to 25 mm, least Count 0.01 mm with NABL Accerdated lab.	Turner	2	0.0612	0.1224	
575		Certificate					Competitive Bidding
	Micrometer Outside	50 to 75mm,least count 0.01mm with NABL Accreadated lab.certificate.	Turner	2	0.06336	0.12672	
576							Competitive Bidding
	Micrometer Outside	25 to 50mm least count 0.01mm with NABL Accredated Lab.certificate	Turner	2	0.0684	0.1368	
577							Competitive Bidding
578	Micrometer inside	upto 25mm,Least count 0.01mm with NABL Accredated lab certificate	Turner	2	0.06408	0.12816	Competitive Bidding
	Micrometer inside	upto 25 to	Turner	2	0.0684	0.1368	,
579		50mm,least count 0.01mm with NABL Accredated lab certificate			3.330	3.1360	Competitive Bidding
	Depth Gauge	upto 25 to 50mm	Turner	2	0.0252	0.0504	<u> </u>
580	Micrometer	Least count					Competitive Bidding
	Vernier Caliper outside,Inside and depth	200mm/8 inches	Turner	6	0.018	0.108	
581		certificate					Competitive Bidding
			1				1

		•		,			
	Dial Vernier Caliper with	0 to 50,least	Turner	6	0.01512	0.09072	
	metric	count 0.05mm					
		with NABL					
		Accredated					
582		lab.certificate					Competitive Bidding
	Vernier Bevel Protractor	300mm blade	Turner	6	0.1152	0.6912	
		with NABL			0.2202	0.0322	
		Accredated					
583							Camanatitiva Diddina
583		lab.certificate	_		0.0004	0.01=00	Competitive Bidding
	Vernier Micrometer	0-25 mm o/s LC	Turner	2	0.00864	0.01728	
		0.001 mm with					
		NABL Accredated					
		lab .certificate					
584							Competitive Bidding
	Vernier Micrometer	25.50 m, outsde	Turner	2	0.009	0.018	
585		least Count					Competitive Bidding
303	Vernier Micrometer	0 inch to 1 inch	Turner	2	0.00972	0.01944	competitive blading
	vermer which officiell		Turrier		0.00972	0.01944	
586		outside least					Competitive Bidding
	Gauge- Radius set	1 mm to 25 mm	Turner	6	0.00756	0.04536	
587		by 0.5mm					Competitive Bidding
	Centere Gauge	com 60 degree	Turner	2	0.01512	0.03024	
		,55 Degree and					
588		29 degree					Competitive Bidding
	Screw Pitch Gauge	whit worth and	Turner	2	0.0018	0.0036	competitive blading
	Screw Fitch Gauge	matric each (0.25	Turrier		0.0018	0.0030	
E00		1					Compositive Bidding
589	D :II A . I	to 6 mm )	<del>-</del>		0.004033	0.000064	Competitive Bidding
590	Drill Angle gauge		Turner	2	0.004032		Competitive Bidding
	Universal Dial Test	Range 0 to m10	Turner	2	0.0288	0.0576	
	Indicator-Plunger type	mm graduation					
		0.01mm					
		complete with					
		clampimg devices					
		and magnitic					
591		stand					Competitive Bidding
	Vernier Height Gauge		Turner	2	0.18	0.36	
592							Competitive Bidding
	Try Square	0 to	Turner	4	0.002016	0.008064	
		300mm,LC=0.02					
		mm with NABL					
		Acredated lab.					
593		Certificate					Competitive Bidding
	Magnifying Glass		Turner	4	0.00252	0.01008	Competitive Bidding
33 +	Plain Ring and Plung	150 blade	Turner	1	0.00396	0.00396	
EOF	Gauge	130 blade	Tarrier	1	0.00390	0.00390	Competitive Bidding
232		lincorted 0.75 c.1	Turnor	4	0.00144	0.00144	compensive bidding
	Wheel Dresser Hunting	(inserted-0.75 o 1	rurner	1	0.00144	0.00144	
	on type with star cutter	Carat)					
596							Competitive Bidding
	Morse taper plug and	(87 pieces in box)	Turner	2	0.0108	0.0216	
	Ring Gauge	with workshop					
597							Competitive Bidding
598	Sine bar with centres	200 mm	Turner	1	0.0216	0.0216	Competitive Bidding
	Slip Gauge metric set	(87 pieces in box)	Turner	1	0.2376	0.2376	
	· -	with workshop					
599							Competitive Bidding
	Twist Drill	Staright Shank 3	Turner	1	0.00216	0.00216	1
		to 12 mm by 1		1	3.30210	0.00210	
600		-					Competitive Bidding
000		mm					compensive bluding

	Drill twist set	Taper Shunk- 14	Turner	2	0.00576	0.01152	
		mm to 20 mm by					
601		1 mm					Competitive Bidding
	Drill chunck	12 mm cap with	Turner	2	0.001512	0.003024	
602		key					Competitive Bidding
	Tape and die	B.A.No. 0 to 10 in	Turner	2	0.0036	0.0072	
603		a box					Competitive Bidding
	Tape and die set	Metric - 3 to 24	Turner	2	0.00864	0.01728	
604		mm					Competitive Bidding
605	Welding helmet fiber		Welder	17	0.00216		Competitive Bidding
	Welding hand shield					0.01836	
	fiber		Welder	17	0.00108		Competitive Bidding
607	Chipping hammer	-	Welder	17	0.0864		Competitive Bidding
		flat				0.01224	
	Chisel cold.	19mmx150mm	Welder	17	0.00072		Competitive Bidding
	Centre punch	9mmx127mm	Welder	17	0.000576		Competitive Bidding
610	Dividers	200mm	Welder	17	0.00108		Competitive Bidding
		150mm double				0.014688	
	Scriber	point	Welder	17	0.000864		Competitive Bidding
	File half round	Bastard 300mm	Welder	17	0.00108		Competitive Bidding
	File flat	350mm Bastard	Welder	17	0.00144		Competitive Bidding
	Truy square		Welder	17	0.0036		Competitive Bidding
	Spindle key		Welder	4	0.00144		Competitive Bidding
	Screw driver	300mm blade.	Welder	1	0.00144		Competitive Bidding
	Number punch	6mm	Welder	2	0.0036		Competitive Bidding
	Letter punch	6mm	Welder	2	0.00648		Competitive Bidding
	Earth clamp	600amp	Welder	6	0.00036		Competitive Bidding
	Spanner DE	6mm-32mm	Welder	2	0		Competitive Bidding
621	C clamps	10cm-15cm	Welder	2	0.00432		Competitive Bidding
						0.00432	
	Hammer sledge	double faced 4kg		1	0.00432		Competitive Bidding
	Electrode holder	600amp	Welder	6	0.00432		Competitive Bidding
624	H.P Welding torch	with 5 nozzels	Welder	2	0.02016		Competitive Bidding
	_	400amp,OCV 60-				0.216	
625	Welding transformer	100volts	Welder	1	0.216		Competitive Bidding
	Welding transformer or					0.1944	
	inverter based welding	300amp,OCV 60-					
626	machine	100volts	Welder	1	0.1944		Competitive Bidding
						0	
	DC Arc welding rectifiers	· ·					
627	set with all accessories	100volts	Welder	1	0		Competitive Bidding
		with water				1.08	
		cooled torch					
	AC/DC GTAW welding	300A,Argon					
628	machine	regulator	Welder	1	1.08		Competitive Bidding
	Air compressor suitable					0.432	
	for air plasma cutting						
629	system		Welder	1	0.432		Competitive Bidding
						0.0432	
630	Portable drilling machine	6mm capacity	Welder	1	0.0432		Competitive Bidding
	Portable gas cutting					0.144	
631	machine		Welder	1	0.144		Competitive Bidding
				l		81.515268	

## Part C: Procurement Plan

Procurement Plan: IMC to submit the procurement plan for ITI as per Section 4.2- Procurement guidelines in the below format:

- i. Total Planned Procurement Amount (Year 1 to Year 5) (in INR lakh)
- ii. Year –wise details of procurement of items (Goods, services etc.) are detailed below: **A. Items to be procured in Year-2**

Α. Ιι	ems to be procured in Year	- <u>z</u>					Method of
S.No	Name of items	Specifications	Trade/Course for which it is required	Total Required	(in INR	Total (in INR lakh)	Procurement(e.g. Shopping/Competitive Bidding)
1	Carpenter Vice	250 mm	Carpenter	16	0.02	0.32	Competitive Bidding
	Saw Sharp Wing Vice	250 jaws	Carpenter	2	0.024	0.048	Competitive Bidding
	Carving Tool Set	•	Carpenter	4	0.0068	0.0272	Competitive Bidding
	Googgles pair		Carpenter	2	0.0012	0.0024	Competitive Bidding
5	Glass cutter		Carpenter	2	0.0056	0.0112	Competitive Bidding
ĵ	Nail punch		Carpenter	4	0.004	0.016	Competitive Bidding
7	Carpenter work bench	2400x920x800 mm	Carpenter	6	0.16	0.96	Competitive Bidding
8	Steel lockers	8 compartments with individual locks 1980x910x480 mm	Carpenter	2	0.1	0.2	Competitive Bidding
_	Steel Almirah with shelves	1980x910x480 mm	Carpenter	2	0.124	0.248	competitive bluming
9	and the state of t			1			Competitive Bidding
LO	Instructor Table	( half Secratiate)	Carpenter	1	0.032	0.032	Competitive Bidding
11	Instructor Chair		Carpenter	2	0.028	0.056	Competitive Bidding
	Chalk board with Easel		Carpenter	1	0.028	0.028	Competitive Bidding
L3	Material Rack		Carpenter	2	0.064	0.128	Competitive Bidding
L4	Portable Circular Saw Machine		Carpenter	2	0.08	0.16	Competitive Bidding
	Portable Planning Machine		Carpenter	2	0.04	0.08	
L5							Competitive Bidding
L6	Power Drill Machine		Carpenter	2	0.016	0.032	Competitive Bidding
.7	Portable sender machine		Carpenter	1	0.056	0.056	Competitive Bidding
.8	portable jig saw machine		Carpenter	2	0.04	0.08	Competitive Bidding
L9	portable router machine		Carpenter	1	0.528	0.528	Competitive Bidding
20	power screw driver		Carpenter	2	0.0068	0.0136	Competitive Bidding
21	curcular saw machine	300 mm dia	Carpenter	1	0.024	0.024	Competitive Bidding
	Set of turning tools for		Carpenter	3	0.16	0.48	
22	above lathe machine						Competitive Bidding
:3	Motorising machine	(Single ended)	Carpenter	1	0.16	0.16	Competitive Bidding
4	Bench rinder	200 mm	Carpenter	1	0.136	0.136	Competitive Bidding
.5	Drill machine	12 mm	Carpenter	1	0.104	0.104	Competitive Bidding
:6	Portable electric drill	(wolf type)	Carpenter	1	0.12	0.12	Competitive Bidding
.7	Foot rule		Carpenter	20	0.0012	0.024	Competitive Bidding
8.	Marking knife	200 mm	Carpenter	20	0.0008	0.016	Competitive Bidding
9	Carpenter Square	200 mm	Carpenter	20	0.0024	0.048	Competitive Bidding
30	Saw hand	450 mm	Carpenter	20	0.0048	0.096	Competitive Bidding
	Saw tenon	300 mm	Carpenter	20	0.004	0.08	Competitive Bidding
	plane smoothing metal	200 mm x50 mm	Carpenter	20	0.0176	0.352	Competitive Bidding
3	chisel mortice	6,10,15 mm	Carpenter	20	0.00096	0.0192	Competitive Bidding
	Screw driver	300 mm	Carpenter	20	0.0016	0.032	Competitive Bidding
	Mallet medium size		Carpenter	20	0.002	0.04	Competitive Bidding
36	claw hammer	500gr	Carpenter	20	0.0024	0.048	Competitive Bidding
37	Hand Brush for bench	450 mm	Carpenter	20	0.00144	0.0288	Competitive Bidding
	Computr with LCD Projector		Carpenter	1	0.72	0.72	Competitive Bidding
	Software:GIMP/Irfan view					0.2	
39	image editor	Latest version	COPA	1	0.2		Competitive Bidding

40	Software:Linux OS	Latest version	СОРА	1	0.24	0.24	Competitive Bidding
41	Dual desk for trainees	standard quality	COPA	20	0.24	0.24	Competitive Bidding
42	I/O Box with socket	RJ-45	COPA	20	0.024	0.48	Competitive Bidding
42	I/O BOX WILLI SOCKEL	For connecting utp	COPA		0.008	0.96	Competitive Bloding
43	RJ-45 connector	cat 5 cable	СОРА	200	0.0048	0.90	Competitive Bidding
44	Pen drive	8GB	COPA	2	0.0048	0.008	Competitive Bidding
45	Battery for LAN tester	9v	COPA	2	0.004	0.008	Competitive Bidding
46	Oil Testing Kit	37	Electrician	1	0.12	0.12	Competitive Bidding
47	Hygrometer		Electrician	1	0.12	0.00128	Competitive Bidding
47	a. Cut out		Electrician	1	0.00	0.00128	Competitive Bloding
	Relays		Electrician	1	0.02	0.02	
	b. Reverse current						
	c. Over current						
10							6 5.11.
48	d. Under voltage		P1	1	0.10	0.40	Competitive Bidding
	AC phase-wound slip		Electrician	1	0.18	0.18	
	ring Motor with starter	5 HP, 400 volts, 3-					
49	and switch	phase, 50 cycles					Competitive Bidding
50	Bath Impregnating		Electrician	1	0.02	0.0208	Competitive Bidding
51	Lux Meter		Electrician	1	0.00	0.00232	Competitive Bidding
	Inverter-		Electrician	1	0.136	0.136	
		1 KVA with 12 V					
		Battery					
		Input- 12 volt DC,					
52	mi // CDm	Output- 220 volt AC	71		0.16		Competitive Bidding
	Thyristor /IGBT		Electrician	1	0.16	0.16	
	controlled D.C. motor						
	drive with tacho-						
	generator feedback						
53	arrangement	1 HP					Competitive Bidding
	Thyristor/IGBT		Electrician	1	0.152	0.152	
	controlled A.C. motor						
	drive with						
54	VVVF control	3 Phase, 2 HP					Competitive Bidding
55	Motor Pump set	1HP,1phase,240v	Electrician	1	0.04	0.04	Competitive Bidding
56	Mixture & Grinder		Electrician	1	0.04	0.04	Competitive Bidding
			Electrician			0	
	Pin type,shackle ntype,egg						
	type& suspension type					1	
	insulators including					1	
57	hardware fitting			2	0	1	Competitive Bidding
58	Hand drill machine	0-6mm capacity	Electrician		0.02	0	Competitive Bidding
		60cmx60cmx3.15mm				0.0288	
59	Earth plate	copper plate	Electrician	1	0.0288	1	Competitive Bidding
1.		60mmx60mmx6mm				0.016	
60	Earth plate	GI plate	Electrician	1	0.016	1	Competitive Bidding
		Primary electrode				0.176	
		2100x28x3.25mm,sec				1	
		ondary Cu strip	EL			1	
61	Earth electrode	20x5mm	Electrician	1	0.176	0.055	Competitive Bidding
	AACCD.	100 Tri	Floretois'		0.056	0.056	C B
62	MCCB	100amp Tripple pole	Electrician	1	0.056	0.022	Competitive Bidding
	FLCD	25	Floretois'		0.000	0.032	C B
63	ELCB	25amp,double pole	Electrician	1	0.032	0.0000	Competitive Bidding
	DCCD	2Fores deviated	Floorer - : - :	1	0.0226	0.0336	Commontation District
64	RCCB	25amp,double pole	Electrician	1	0.0336	0.022	Competitive Bidding
65	HRC fuses		Electrician	4	0.008	0.032	Competitive Bidding
66	Electrolytic capacitor		Electrician	2	0.0008	0.0016	Competitive Bidding

67	Coramic canacites		Electrician	2	0.00103	0.00204	Compositive Bidding
67	Ceramic capacitor		Electrician	2	0.00192	0.00384	Competitive Bidding
68	Polyester film capacitor		Electrician	2	0.002	0.004	Competitive Bidding
	Variable capacitor		Electrician	2	0.0024	0.0048	Competitive Bidding
70	Dual run capacitor		Electrician	2	0.0024	0.0048	Competitive Bidding
			-1			0.0048	
	Halogen incandescent lamp		Electrician	1	0.0048	0.0463	Competitive Bidding
72	HP mercury vapour lamp		Electrician	1	0.0192	0.0192	Competitive Bidding
72	High proceure codium lanes		Electrician	1	0.036	0.036	Competitive Piddica
73	High pressure sodium lamp		Electrician	1	0.030	0.036	Competitive Bidding
74	Low pressure sodium lamp		Electrician	1	0.036	0.036	Competitive Pidding
74 75	LED		Electrician Electrician	1	0.036	0.004	Competitive Bidding Competitive Bidding
76	Twisted pair cable		Electrician	2	0.004	0.004	Competitive Bidding
70	i wisten hall canie		Liccuician		0.0012	0.0024	Compensive bluding
77	Non metallic sheathed cable		Electrician	2	0.0048	0.0096	Compositive Pidding
77	Tron metanic sileatilea cable		Licetifican	_	0.0048	0.008	Competitive Bidding
78	Under ground feeder cable		Electrician	2	0.004	0.000	Competitive Bidding
79	Ribbon cable		Electrician	2	0.004	0.0016	Competitive Bidding
	Metallic sheathed cable		Electrician	2	0.0008	0.0010	Competitive Bidding
81	Multi conductor cable		Electrician	2	0.0012	0.0024	Competitive Bidding
82	Coaxial cable		Electrician	2	0.0012	0.0024	Competitive Bidding
83	Direct Buried cable		Electrician	2	0.0032	0.0088	Competitive Bidding
	Electrician Helmet	Yellow colour	Electrician	2	0.0044	0.0088	Competitive Bidding
	Safety belt	standard quality	Electrician	2	0.0064	0.0128	Competitive Bidding
0.5		osaniaara quanty	com/ciam		3.0004	0.0128	competitive bidding
86	3 point DC starter	For 2.5kw DC Motor	Electrician	1	0.0048	0.0040	Competitive Bidding
00	o point De starter	. C. ZISKII DE MICKOI		-	0.00-0	0.08	competitive bidding
87	4point DC starter	For 2.5kw DC Motor	Electrician	1	0.08	0.00	Competitive Bidding
88	Digital Wattmeter	230v,1kw,50Hz	Electrician	2	0.0048	0.0096	Competitive Bidding
	Magnetic Flux meter	0-500 Tesla	Electrician	2	0.28	0.56	Competitive Bidding
	AC Table fan	68watt,230v	Electrician	1	0.0192	0.0192	Competitive Bidding
	Different types of electronic	223.000,2001	Electronic			0.8	
	and electrical		Mechanic			1	
	cables,connectors,sockets,t						
91	erminations			20	0.04		Competitive Bidding
-	Different types of Analog		Electronic	<u> </u>	-	0.8	h
	electronic		Mechanic			1	
	componenets, digital						
	Ics,power electronic						
	components,general						
	purpose PCBs,bread					1	
92	board,MCB,ELCB			20	0.04		Competitive Bidding
	DSO( colour)		Electronic	<u> </u>	-	0.248	h
	( /	4 channel,50mhz real	Mechanic			1	
1		time sampling 1G					
		samples/Sec,12 Mpts				1	
		Memory with PC				1	
1		interface USB,Lan					
		and math function					
		includes +,FFt,				1	
		differential,integral,a				1	
93		bs,log etc.		1	0.248	1	Competitive Bidding
)3	Soldering amd Dis soldering	23,105 Ctc.	Electronic	-	0.270	0.12	competitive biduing
94	station		Mechanic	1	0.12	3.12	Competitive Bidding
7 +	SMD Soldereing and De		Electronic	<del>-</del>	J.12	0.128	Sompetitive bludding
	Soldering Station with		Mechanic			0.120	
95	necessary accessories		TVICCITATIIC	2	0.064	1	Competitive Bidding
"	necessary accessories				0.007		competitive bidding

			Electronic			0.0184	
96	DOL starter		Mechanic	1	0.0184	0.0184	Competitive Bidding
30	Ac Motor Trainer Kit 1/4 hp		Electronic	1	0.0184	0.04	Competitive Bidding
	motor Single phase		Mechanic			0.04	
	contactors Relays MCB DOL		Wicerianic				
97	Starter			1	0.04		Competitive Bidding
37	otarte:		Electronic	_	0.04	0.056	competitive blading
98	PAM,PPM,PWM trainer kit		Mechanic	1	0.056	0.000	Competitive Bidding
	AM/FM Commercial radio		Electronic			0.032	, and a second
99	recivers		Mechanic	2	0.016		Competitive Bidding
			Electronic			0.08	·
		Core 8051, ready to	Mechanic				
		run programmer for					
		AT89C51/52 & 55,					
		programming modes					
		key pad and PC					
	Micro Controller Kits (8051)	Circuits.Detailed					
	along with pprogramming	learning content					
	software (assembly level	through simulation					
100	Programming)	software.		4	0.02		Competitive Bidding
			Electronic			0.0744	
			Mechanic				
		1. interface: 4x4					
		matrix keypad, Ascii					
		key PAD,four input					
		Switch2.Display					
		Module 16x2					
		LCD,seven					
		segment,LED Bar					
		Graph 3. ADC/DAC					
		Module with most					
		popular DC/DAC0808					
		4. PC interfsce:RS232					
		& USB5. Motor Drive:					
		DC,Servo,Stepper 6.					
	Application kits for	DAQ:Data Acquisition					
	Microcontrollers 6 diffeeent	to sense different					
101	applications	sensors signals		1	0.0744		Competitive Bidding
			Electronic			0.064	
	Various ananlog and digital		Mechanic				
	Ics useful for doing project						
	works mentioned in the						
	digital and analog IC						
102	Applications modules			20	0.0032		Competitive Bidding
			Electronic			0.336	
103	seven segment DPM Trainer		Mechanic	6	0.056		Competitive Bidding
			Electronic			0.0312	
104	Lcd Based DPM		Mechanic	6	0.0052		Competitive Bidding
			Electronic			0.16	
105	SMPS of different make		Mechanic	4	0.04		Competitive Bidding

			Electronic			0.0416	
			Mechanic				
		PWM switching					
		technology, Test					
		points to measure					
		the voltages of					
		different sectins over					
		all functioning of UPS					
		_					
		trainer,Avr					
100	LIBS T	transformers, Ups			0.0446		6 5.11
106	UPS Trainer	with laod condition		1	0.0416		Competitive Bidding
	UDC 21		Electronic			0.4	
107	UPS 3kva with backup		Mechanic	2	0.2		Competitive Bidding
			Electronic			0.132	
		2G/3G/4G Dual sim	Mechanic				
		GSM handset					
		Frequency					
		measurement and					
		band verification.Real					
		time Mobile					
108	Mobile Phone Trainer	Operation		1	0.132		Competitive Bidding
			Electronic			0.48	
	Smart Phones of different		Mechanic				
109	make (android/windows)			4	0.12		Competitive Bidding
103	mane (and ora, macho)	21",HD clour LCD Tv	Electronic		0.12	0.2	competitive blading
		Should support	Mechanic			0.2	
		DAL/NTSC Vedio	IVICCIIAIIIC				
1		formats.Complete					
440	LCD TV Ame ' V''	block diagram of a			0.2		Commentation BY 1.11
110	LCD TV trainer Kit	LCD tv System	E	1	0.2	0.22	Competitive Bidding
ļ.,.			Electronic			0.32	
111	LCD TV	21'	Mechanic	2	0.16	0.000	Competitive Bidding
		21",HD clour LCD Tv	Electronic			0.208	
		Should support	Mechanic				
		DAL/NTSC Vedio					
1		formats.Complete					
		block diagram of a					
112	LED TV trainer Kit	LCD tv System		1	0.208		Competitive Bidding
			Electronic			0.168	
113	LED TV	21'	Mechanic	1	0.168		Competitive Bidding
			Electronic			0.048	
			Mechanic				
		with built in meters					
1		for DCV,DCA,AC					
		multifunction meter					
		for ACI power					
		frequency .BS-10					
		terminals for making					
		connectors					
		Single/Dual axis					
		traciking system					
		charge controller					
		,PWM based					
		1	I	1	1	1	1
		MPPT,Charging					
114	Solar Training Kit	MPPT,Charging stage,bulk absorptions and float		1	0.048		Competitive Bidding

_		T	1	1	T	1	
		measurement of	Electronic			0.16	
		power,voltage,curren	Mechanic				
		t,power factor and					
		light output					
		performance of					
		different lighting					
		products like LED,CFL					
		at variable inputs					
		voltages 0-245					
115	LED Lighting System	varuable AC		1	0.16		Competitive Bidding
		100CMX150CMX45C	Electronic			0.384	
116	Metal Rack	М	Mechanic	4	0.096		Competitive Bidding
	Lockers with 16 drawers		Electronic			0.24	
117	standard size		Mechanic	2	0.12	0.2 1	Competitive Bidding
11/	Staridard Size				0.12	0.064	competitive blading
440			Electronic		0.000	0.064	6 5.11
118	Fire Extinguisher		Mechanic	2	0.032	1	Competitive Bidding
			Electronic			0.0144	
119	Fire buckets		Mechanic	2	0.0072		Competitive Bidding
			Fashion			0.0096	
120	Pattern Notcher		Technology	1	0.0096		Competitive Bidding
			Fashion			0.0384	
121	Pattern hanging stand		Technology	4	0.0096		Competitive Bidding
			Fashion			0.008	
122	Water tub	60cm dia	Technology	1	0.008	0.000	Competitive Bidding
122	water tub	oociii dia	Fashion	1	0.008	0.12	Competitive Bidding
422	Chand fan han sin a doaras			_	0.004	0.12	6 5.11
123	Stand for hanging dresses		Technology	5	0.024		Competitive Bidding
	Trail room with three side		Fashion			0.048	
124	mirrors	150cmx60cm	Technology	1	0.048		Competitive Bidding
	Electric automatic steam		Fashion			0.06	
125	press		Technology	5	0.012		Competitive Bidding
	Sewing machine single		Fashion			0.36	
126	needle lock stitch	industrial model	Technology	3	0.12		Competitive Bidding
			Fashion			0.08	
127	Pick glass		Technology	5	0.016	0.00	Competitive Bidding
127	Zig Zag multi purpose		Fashion	,	0.010	0.088	competitive blading
120	machine			1	0.000	0.000	Commontitive Didding
128	machine		Technology	1	0.088	1 000	Competitive Bidding
			Fashion			1.092	
129	Chairs with low back rest		Technology	21	0.052		Competitive Bidding
			Fashion			0.864	
130	Drafting table		Technology	9	0.096		Competitive Bidding
						0.064	
	Display board covered with		Fashion				
131	glass or acrylic sheet	120x90cm	Technology	2	0.032		Competitive Bidding
	0	21.000	Fashion	†	1	0.192	
122	Steel almirah	195x90x60cm	Technology	2	0.096	3.132	Competitive Bidding
132	Pigeon hole locker with	133730700CIII	Fashion		0.030	0.48	compensive bluming
122					0.24	0.48	Commentation Division
133	10lockers		Technology	2	0.24		Competitive Bidding
			Fashion			0.048	
134	Locks for pigeon hole		Technology	20	0.0024	ļ	Competitive Bidding
			Fashion			0.004	
135	Calculator desk type		Technology	1	0.004		Competitive Bidding
	White board with		Fashion			0.072	<u> </u>
136	accessories		Technology	2	0.036		Competitive Bidding
			Fashion	†	1	0.36	
127	Server system with software	latest configuration	Technology	1	0.36	5.50	Competitive Bidding
137	•	iatest comiguration		1	0.30	0.50	compensive bluding
400	Designing software Coral		Fashion		0.00	0.56	6
138	draw	latest version	Technology	2	0.28	1	Competitive Bidding

			Facilities.			0.2046	Т
120	Antivirus software		Fashion	21	0.0000	0.2016	Compositive Didding
139	Antivirus software		Technology Fashion	21	0.0096	0.43	Competitive Bidding
1.40	Lacer printer cales	A 4		4	0.42	0.12	Commentation District
140	Laser printer color	A4	Technology	1	0.12	0.444	Competitive Bidding
1 44	Calarad Lacar printer	4.2	Fashion	4	0.4.4.4	0.144	Commentation District
141	Colored Laser printer	A3	Technology	1	0.144	0.006	Competitive Bidding
4.43	c		Fashion		0.006	0.096	6 5.1.1
142	Scanner		Technology	1	0.096	0.056	Competitive Bidding
			Fashion		0.056	0.056	
143	Computer table for server		Technology	1	0.056		Competitive Bidding
			Fashion			0.048	
144	Printer table		Technology	2	0.024		Competitive Bidding
4.45	T 11 C		Fashion		0.004	0.024	6 5.1.1
145	Table for scanner		Technology	1	0.024		Competitive Bidding
			Fashion			0.192	
146	Storage Almirah		Technology	2	0.096		Competitive Bidding
l			Fashion			0.08	
147	Vacuum cleaner		Technology	1	0.08		Competitive Bidding
						0.23296	
_	file triangular secound cut	200 mm	Fitter	4	0.05824		Competitive Bidding
	file flat bastard	200 mm	Fitter	4	0.0098	0.0392	Competitive Bidding
150	file flat bastard	300 mm	Fitter	4	0.0098	0.0392	Competitive Bidding
		set of 12,length =150				0.00352	
_	file swiss type needle	mm	Fitter	4	0.00088		Competitive Bidding
	file half round bastard	250 mm	Fitter	7	0.00824	0.05768	Competitive Bidding
153	File hand secound cut	150 mm	Fitter	4	0.0016	0.0064	Competitive Bidding
154	Oil Can	250 ml	Fitter	2	0.002	0.004	Competitive Bidding
155	Glass magnifying	75 mm	Fitter	2	0.0004	0.0008	Competitive Bidding
		5 cm and 7.5 cm set				0.04	
	Clamp toolmaker	of 2	Fitter	2	0.02		Competitive Bidding
157	Clamp "C"	100 mm	Fitter	2	0.00432	0.00864	Competitive Bidding
158	clamp "C"	200 mm	Fitter	2	0.00432	0.00864	Competitive Bidding
		Nominal Dia				0.00504	
_	Hand Rearner set	6,8,10,12,16 mm	Fitter	1	0.00504		Competitive Bidding
	Scraper flat	150 mm	Fitter	8	0.008	0.064	Competitive Bidding
	Scraper traingular	150 mm	Fitter	8	0.00044	0.00352	Competitive Bidding
	Scraper half round	150 mm	Fitter	8	0.0012	0.0096	Competitive Bidding
163	Vice bench	150 mm	Fitter	10	0.00672	0.0672	Competitive Bidding
164	lockers with 8 drawers	Standard size	Fitter	1	0.1424	0.1424	Competitive Bidding
	Fire buckets		Fitter	2	0.0028	0.0056	Competitive Bidding
166	Machine Vice	100 mm	Fitter	2	0.0272	0.0544	Competitive Bidding
	knurling tool					0.008	
	(Diamind,Straight and						
167	Diagonal)		Fitter	1	0.008		Competitive Bidding
	Indexable boring bar with					1.024	
	inserts	1" shank	Fitter	4	0.256		Competitive Bidding
	Temperature Gauge	Range0-150`C	Fitter	1	0.02	0.02	Competitive Bidding
170	Caps Screw	M6,M8,M10,M12	Fitter	1	0.0096	0.0096	Competitive Bidding
		Ratchet type Die				0.048	
	pipe threading die with	head of 1/2",3/4" and					
171	handle	1"	Fitter	1	0.048		Competitive Bidding
						0.32	
	Jigs & Fixture (sample) for						
	demonstration (may Be						
172	Manufactured in house)		Fitter	1	0.32		Competitive Bidding
173	Fire buckets		Fitter	2	0.0072	0.0144	Competitive Bidding
174	Machine Vice	100 mm	Fitter	2	0.096	0.192	Competitive Bidding

Modular writing tray chairs with adjustable pad for theory class room   Decorator & Designing   22   0.024   Competitive Bidding							0.528	
theory class room    Designing   22		Modular writting tray chairs		Interior			0.528	
175   theory class room								
Drawing boards fixed over adjustable stand	175				22	0.024		Competitive Bidding
176   adjustable stand		,					0.504	
176   adjustable stand		Drawing boards fixed over		Decorator &				
Draughtsman stool with 450 mm (D) 50 mm Decorator & Competitive Bidding Interior Decorator & Designing 22 0.04 Competitive Bidding Occupant (Interior Decorator & Designing 22 0.04 Competitive Bidding Occupant (Interior Decorator & Decorator & Decorator & O.192 Competitive Bidding Occupant (Interior Decorator & Decorator & O.0784 Competitive Bidding Occupant (Interior Decorator & Decorator & Decorator & O.0784 Competitive Bidding Occupant (Interior Decorator & Decorator & Decorator & Decorator & O.0784 Competitive Bidding Occupant (Interior Decorator &	176	<u> </u>	700 mm x 500mm	Designing	21	0.024		Competitive Bidding
Designing   22   0.04   Competitive Bidding   1/12   1/1		•	seat-450 mm (W)x				0.88	
Designing   22   0.04   Competitive Bidding   1/12   1/1		Draughtsman stool with	450 mm (D) 50 mm	Decorator &				
Decorator & Designing   Decorator & Designing   Decorator & Deco	177	back (revolving type)	(thick)	Designing	22	0.04		Competitive Bidding
178   Chest of Drawers   Wooden   Designing   Interior   Decorator & Designing   1   0.0784   Competitive Bidding   Designing   1   0.0784   Competitive Bidding   Decorator & Decorator & Designing   1   0.0784   Competitive Bidding   Decorator & Decorator				Interior			0.192	
with lockable glass shutters Decorator & D.0.0784 Decorator & D.0.072 Decorator & D.0.084 Decorator & D.0.0084 Decorator & D.0.008				Decorator &				
179   Steel book case   with lockable glass shutters   Decorator & Designing   1   0.0784   Competitive Bidding	178	Chest of Drawers	wooden	Designing	4	0.048		Competitive Bidding
179   Steel book case   Shutters   Designing   1   0.0784   Competitive Bidding   Interior   Decorator & Designing   2   0.076   Competitive Bidding   180   Instructor's revolving with   Designing   1   0.084   Competitive Bidding   181   ar chair   Decorator & Designing   1   0.084   Competitive Bidding   182   Visitors revolving chair   Designing   1   0.044   Competitive Bidding   183   Steel Almirah with shelves   Designing   1   0.016   Competitive Bidding   184   Without stand)   Designing   4   0.08   Competitive Bidding   185   Claw hammer   Decorator & Decorator & Decorator & Designing   5   0.002   Competitive Bidding   186   Metallic tape   30 meter long   Designing   2   0.0084   Competitive Bidding   187   Compass   Designing   2   0.0084   Competitive Bidding   187   Compass   Decorator & Decora				Interior			0.0784	
Interior Decorator & Designing 2 0.076			with lockable glass	Decorator &				
Decorator & Designing   2   0.076   Competitive Bidding	179	Steel book case	shutters	Designing	1	0.0784		Competitive Bidding
180   Instructor Table   with glass top   Designing   2   0.076   Competitive Bidding   Interior   Decorator & Designing   1   0.084   Competitive Bidding   Designing   1   0.084   Competitive Bidding   Designing   1   0.044   Competitive Bidding   Decorator & Designing   1   0.116   Competitive Bidding   Designing   1   0.116   Competitive Bidding   Decorator & Decorator & Designing   1   0.116   Competitive Bidding   Decorator & Designing   21   0.0048   Competitive Bidding   Decorator & Designing   21   0.0016   Competitive Bidding   Designing   1   0.0048   Competitive Bidding   Designing   1   0.0048   Competitive Bidding   Designing   1   0.0048   Competitive Bidding   1   0.0048   Competitive Bidding   1   0.0048   Designing   1   0.0048   Competitive Bidding   1   0.0048   Designing   1   0.0048   Competitive Bidding   1   0.0048   Designing   1   0.0048   0.0048   Decorator &				Interior			0.152	
instructor's revolving with  181 ar chair  Decorator & Designing & Designing & Decorator &				Decorator &				
Instructor's revolving with ar chair  Ist ar chair  Interior Decorator & Designing Designing Designing Decorator & Decorator & Designing Decorator & Decorator & Designing Decorator & Designing Decorator & Designing Decorator & Decorator & Designing Decorator & Decorator & Designing Decorator & Designing Decorator & Designing Decorator & Designing Decorator & Decorator & Designing Decorator & Designing Decorator & Decorator & Decorator & Decorator & Decorator & Designing Decorator & Decorat	180	Instructor Table	with glass top	Designing	2	0.076		Competitive Bidding
181   ar chair   Designing   1   0.084   Competitive Bidding   Interior   Decorator & Designing   1   0.044   Competitive Bidding   1   0.046   Competitive Bidding   1   0.04				Interior			0.084	
Interior Decorator & Designing 1 0.044 Competitive Bidding 183 Steel Almirah with shelves Designing 1 0.116 Competitive Bidding 184 without stand) Designing 1 0.116 Competitive Bidding 185 claw hammer Decorator & Designing 4 0.08 Competitive Bidding 186 Metallic tape 30 meter long Designing 2 0.0084 Competitive Bidding 187 Compass Designing 2 0.0084 Competitive Bidding 188 Metric Tape -5M Designing 2 0.0048 Competitive Bidding 188 Metric Tape -5M Designing 2 0.0084 Competitive Bidding 189 Calculator scientific Decorator & Decora		_		Decorator &				
Decorator & Designing 1 0.044 Competitive Bidding 183 Steel Almirah with shelves Designing 1 0.116 Competitive Bidding 184 Without stand) Designing 1 0.116 Competitive Bidding 185 claw hammer Decorator & Designing 4 0.08 Competitive Bidding 185 claw hammer Decorator & Designing 5 0.002 Competitive Bidding 186 Metallic tape 30 meter long Designing 2 0.0084 Competitive Bidding 187 Compass Designing 2 0.0084 Competitive Bidding 188 Metric Tape - SM Designing 2 0.0084 Competitive Bidding 188 Metric Tape - SM Designing 2 0.0088 Competitive Bidding 188 Metric Tape - SM Designing 2 0.0088 Competitive Bidding 189 Calculator scientific Decorator & Designing 2 0.0088 Competitive Bidding 189 Calculator scientific Designing 2 0.0088 Competitive Bidding 189 Calculator scientific Designing 5 0.0088 Competitive Bidding 190 Flexi curve 80 cm Designing 5 0.0088 Competitive Bidding 191 Electronic glue gun Designing 5 0.0008 Competitive Bidding 191 Electronic glue gun Designing 5 0.0008 Competitive Bidding 191 Electronic glue gun Designing 5 0.0008 Competitive Bidding 191 Electronic glue gun Designing 5 0.0008 Competitive Bidding 191 Electronic Becorator & Decorator & Designing 5 0.0008 Competitive Bidding 191 Electronic glue gun Designing 5 0.0008 Competitive Bidding 191 Electronic glue gun 191 Electronic Becorator & Decorator & De	181	ar chair			1	0.084		Competitive Bidding
182   Visitors revolving chair   Designing   1   0.044   Competitive Bidding							0.044	
Interior Decorator & Designing 1 0.116								
Decorator & Designing   1	182	Visitors revolving chair			1	0.044		Competitive Bidding
183   Steel Almirah with shelves   Designing   1   0.116   Competitive Bidding							0.116	
Pin up board (with or Decorator & Designing   4   0.08   Competitive Bidding								
Pin up board (with or without stand)  Decorator & Designing 4 0.08 Competitive Bidding Interior Decorator & Designing 5 0.002 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.002 Competitive Bidding Interior Decorator & Decorator & Decorator & Decorator & Decorator & Competitive Bidding Interior Decorator & Decorator & Decorator & Decorator & Decorator & Decorator & Designing 21 0.0048 Competitive Bidding Interior Decorator & Designing 21 0.0048 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator & Decorator & Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator &	183	Steel Almiran with shelves			1	0.116	0.22	Competitive Bidding
184 without stand)  Designing 4 0.08 Competitive Bidding  Interior Decorator & Designing 5 0.002 Competitive Bidding  Interior Decorator & Designing 5 0.002 Competitive Bidding  Interior Decorator & Decorator & Decorator & Decorator & Designing 2 0.0084 Competitive Bidding  Interior Decorator & Designing 21 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 1 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding  Interior Decorator & Decorator		Dia b l /thb					0.32	
Interior Decorator & Designing 5 0.002 Competitive Bidding Interior Decorator & Designing 5 0.002 Competitive Bidding Interior Decorator & Decorator & Designing 2 0.0084 Competitive Bidding Interior Decorator & Designing 21 0.0048 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Designing 5 0.0048 Competitive Bidding Interior Decorator & Decorato	104				4	0.00		Cananatitiva Biddina
Decorator & Designing 5 0.002 Competitive Bidding  Interior Decorator & Decora	184	without stand)			4	0.08	0.01	Competitive Bidding
185   Claw hammer   Designing   5   0.002   Competitive Bidding							0.01	
Interior Decorator & Designing 2 0.0084 Competitive Bidding  Interior Decorator & Designing 2 0.0084 Competitive Bidding  Interior Decorator & Designing 21 0.0048 Competitive Bidding  Interior Decorator & Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Decorator & Designing 5 0.0008 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding	105	claw hammer			5	0.002		Competitive Ridding
Decorator & Decorator & Designing 2 0.0084 Competitive Bidding 1	103	Claw Hallillei			<u> </u>	0.002	0.0168	Competitive Bidding
Metallic tape   30 meter long   Designing   2   0.0084   Competitive Bidding							0.0108	
Interior Decorator & Designing 21 0.0048 Competitive Bidding Interior Decorator & Designing 21 0.0048 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Designing 21 0.0016 Competitive Bidding Interior Decorator & Deco	186	Metallic tane	30 meter long		2	0.0084		Competitive Bidding
directional Magnetic  Decorator & Designing 21 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator &	100	ivictume tupe	30 meter long			0.0004	0.1008	competitive bluding
Designing 21 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  188 Metric Tape -5M Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  189 Calculator scientific Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  190 flexi curve 80 cm Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0004 Competitive Bidding  191 Electronic glue gun Designing 5 0.0008 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding		directional Magnetic					0.1000	
Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Decorator & Decorator & Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Decorator & Decorator & Decorator & Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Dec	187	<u> </u>			21	0.0048		Competitive Bidding
Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator &	207					0.00.0	0.0336	competitive Didding
Designing   Desi								
Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Decorator & Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding  Interior Decorator & Deco	188	Metric Tape -5M			21	0.0016		Competitive Bidding
Decorator & Designing 5 0.0048 Competitive Bidding  Interior Decorator & Decorator & Decorator & Decorator & Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.004  Interior Decorator & Decorator							0.024	1
189 Calculator scientific  Designing  Interior Decorator & Designing  190 flexi curve  80 cm  Designing  21  0.0016  Competitive Bidding  Interior Decorator & Designing  191 Electronic glue gun  Designing  Interior Decorator & Designing  5  0.0048  Competitive Bidding  0.004  Competitive Bidding  Interior Decorator & Designing  5  0.0008  Competitive Bidding  Interior Decorator & Decorat								
Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding  Interior Decorator & Designing 5 0.0008 Competitive Bidding	189	Calculator scientific			5	0.0048		Competitive Bidding
Decorator & Designing 21 0.0016 Competitive Bidding  Interior Decorator & Decorator & Decorator & Decorator & Decorator & Decorator & Designing 5 0.0008 Competitive Bidding  Interior Decorator & Dec							0.0336	
Interior Decorator & Designing 5 0.004 Competitive Bidding Interior Decorator & Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator & Decorator				Decorator &				
Decorator & Designing 5 0.0008 Competitive Bidding Interior Decorator & Decora	190	flexi curve	80 cm	Designing	21	0.0016		Competitive Bidding
191 Electronic glue gun Designing 5 0.0008 Competitive Bidding Interior Decorator & 0.072				Interior			0.004	
Interior 0.072 Decorator &				Decorator &				
Decorator &	191	Electronic glue gun		Designing	5	0.0008		Competitive Bidding
				Interior			0.072	
100 hand drill machine Designing E 0.0144 Compatitive Bidding				Decorator &				
132 prante drin macrime     Designing   3   0.0144	192	hand drill machine		Designing	5	0.0144		Competitive Bidding

		Γ		ı		I	1
						0.8	
		with latest					
		configuration (Vista &					
		Above) pre loaded	Interior				
		with operating	Decorator &		_		
193	Laptop latest Configuration	system and MS office		2	0.4		Competitive Bidding
			Interior			0.8	
	Drafting software like Auto		Decorator &				
194	CAD		Designing	5	0.16		Competitive Bidding
			Interior			0.116	
			Decorator &				
195	steek almirah	small size	Designing	1	0.116		Competitive Bidding
			Interior			0.4	
			Decorator &				
196	3D Plotter		Designing	1	0.4		Competitive Bidding
			Interior			0.024	
			Decorator &				
197	UPS ONLINE		Designing	1	0.024		Competitive Bidding
			Interior			0.16	
			Decorator &				
198	Printer table (module type)		Designing	2	0.08		Competitive Bidding
			Interior			0.048	
			Decorator &				
199	internet connection wifi		Designing	1	0.048		Competitive Bidding
			Interior			0.068	, and a second
			Decorator &				
200	Vacum cleaner		Designing	1	0.068		Competitive Bidding
	vacan cicaner		Interior	-	0.000	0.024	competitive blading
			Decorator &			0.024	
201	Shoe Rack		Designing	1	0.024		Competitive Bidding
201	Shoe Rack		Interior	-	0.024	0.304	competitive blading
	LED Projector latest model		Decorator &			0.304	
202	with white screen			1	0.304		Compositive Ridding
202	with white screen		Designing Interior	1	0.304	0.28	Competitive Bidding
	interactive board with					0.28	
202			Decorator &	1	0.20		Cananatitiva Diddina
203	complete accessores	4 G / ITHING 220	Designing	1	0.28	0.046	Competitive Bidding
	Dual Magnetization Yoke	AC/HWDC, 230		1		0.016	
204	:	VAC, 50Hz	Motor Mechanic		0.016		Competitive Bidding
	Gas Welding Table	1220mm x760mm		2		0.096	
205	-	122011111 X70011111	Motor Mechanic	_	0.048		Competitive Bidding
	Hand operated Hydraulic			1		0.08	
206	press		Motor Mechanic	1	0.08		Competitive Bidding
	Hydraulic jack HI-LIFT	3 ton capacity		1		0.032	
207	type -	trolley type	Motor Mechanic	1	0.032		Competitive Bidding
	Hydraulic jack HI-LIFT	5 Ton capacity				0.064	·
208	type -	trolley type	Motor Mechanic	1	0.064		Competitive Bidding
	Liquid penetrant					0.032	
200	Inspection kit		Motor Mechanic	1	0.032	3.002	Competitive Bidding
209	_		INIOTOL INIECHALIIC		0.032	1.2	compensive blading
24.0	Multi Scan Tool with		NA-+	1	4.2	1.2	Commentation Bill II
210	oscilloscope		Motor Mechanic		1.2	<u> </u>	Competitive Bidding
	Pipe Bending Machine	12mm to 30mm		1		0.6	
211	(Hydraulic type)	-2 to 50111111	Motor Mechanic	-	0.6	<u> </u>	Competitive Bidding
	Pneumatic rivet gun with			2		0.08	
212	standard accessories		Motor Mechanic	2	0.04		Competitive Bidding
		600 1 6		1		0.04	
213	Tin smiths bench folder	600 x 1.6mm	Motor Mechanic	1	0.04		Competitive Bidding
	<b>L</b>					-	

	Transfer case with stand					0.12	
	for Dismantling and			1		0.12	
214	assembly.		Motor Mechanic	1	0.12		Competitive Bidding
217	Trolley type portable air	single cylinder with		1	0.12	0.4	competitive blading
	compressor	45 liters capacity					
	r	Air tank, along with					
		accessories & with					
		working pressure					
215		6.5 kg/sq cm	Motor Mechanic		0.4		Competitive Bidding
	Tyon Changan Mashina			1		0.64	
216	Tyer Changer Machine		Motor Mechanic	1	0.64		Competitive Bidding
		Oxy-Acetylene				0.384	
	Welding plant	complete ( high		1			
	wording prant	pressure) complete		-			
217		with all accessories	Motor Mechanic		0.384		Competitive Bidding
	Automatic Transmission	1.0 litre pack		10		0.024	
218	oils	•	Motor Mechanic		0.0024	0.016	Competitive Bidding
219	Brake fluids	250 ml	Motor Mechanic	20	0.0008	0.016	Competitive Bidding
219			Motor Mechanic		0.0008	0.0048	Competitive bluding
220	Chalk, Prussian blue.		Motor Mechanic	60	0.00008	0.0048	Competitive Bidding
			TVIOLOT IVICCITATIO		0.00000	0.176	competitive bloams
221	Diesel (in litres)		Motor Mechanic	400	0.00044		Competitive Bidding
	Different type gasket			100		0.056	
222	material sheets		Motor Mechanic	100	0.00056		Competitive Bidding
	Different type of oil seal			20		0.0048	
223	Different type of on seaf		Motor Mechanic	20	0.00024		Competitive Bidding
	Drill Twist (assorted)	1.5 mm to 12 mm		4		0.032	
224	Dim Twist (ussorted)	(set)	Motor Mechanic	'	0.008		Competitive Bidding
	Emery paper -	36-60 (cloth)		100		0.008	
225	7 1 1	` ′	Motor Mechanic		0.00008	0.008	Competitive Bidding
226	Emery paper -	80-120 (cloth)	Motor Mechanic	100	0.00008	0.008	Competitive Bidding
220			WIOTOT WICCHAINC		0.00000	0.144	competitive blading
227	Engine oil	5.0 litre pack	Motor Mechanic	10	0.0144	0.111	Competitive Bidding
	G 11	1.01%		10		0.028	, ,
228	Gear oils	1.0 litre pack	Motor Mechanic	10	0.0028		Competitive Bidding
	Leather welding gloves			5		0.008	
229	pair		Motor Mechanic	3	0.0016		Competitive Bidding
	Hacksaw blade Double			100		0.0096	
230	ended		Motor Mechanic	100	0.000096		Competitive Bidding
	Hand rubber gloves (pair)	for 5000 V		5		0.008	
231	tested		Motor Mechanic		0.0016	0.0010	Competitive Bidding
222	Hydrometer		Motor Masharis	4	0.0013	0.0048	Compositive Didding
232	-		Motor Mechanic		0.0012	0.02	Competitive Bidding
233	Leather Apron		Motor Mechanic	5	0.004	0.02	Competitive Bidding
233			Wiotor Wicerianie		0.004	0.256	competitive blading
234	Petrol (in litres)		Motor Mechanic	400	0.00064	0.250	Competitive Bidding
		0.51%		20		0.024	·
235	Power steering oil	0.5 litre pack	Motor Mechanic	20	0.0012		Competitive Bidding
	Radiator Coolants	0.5 litre pack		40		0.048	
236	Natiator Coolants	0.5 mie pack	Motor Mechanic	+0	0.0012		Competitive Bidding
	Steel wire Brush	50mmx150mm		5		0.0012	
237			Motor Mechanic		0.00024	0.24	Competitive Bidding
220	Book shelf (glass panel)	61/2 ' x 3' x 11/2'	Motor Mochani-	2	0.12	0.24	Compositive Ridding
238			Motor Mechanic	<u> </u>	0.12		Competitive Bidding

		1		П	1	1	
239	Computer Chair		Motor Mechanic	2	0.028	0.056	Competitive Bidding
240	Computer Table		Motor Mechanic	2	0.032	0.064	Competitive Bidding
241	Discussion Table	8' x 4' x 21/2 '	Motor Mechanic	2	0.048	0.096	Competitive Bidding
242	Stools		Motor Mechanic	21	0.008	0.168	Competitive Bidding
243	Storage Rack	61/2 ' x 3' x 11/2'	Motor Mechanic	3	0.048	0.144	Competitive Bidding
244	Storage shelf	61/2 ' x 3' x 11/2'	Motor Mechanic	2	0.16	0.32	Competitive Bidding
245	Bech cun desk	2 seater	Motor Mechanic	10	0.048	0.48	Competitive Bidding
246	Suitable Working table made of	75mmx6mm angle iron with cross supports and 2"		2	0.00	0.16	
246		Deodar top 61/2 ' x 3' x 11/2'	Motor Mechanic		0.08	0.08	Competitive Bidding
247	Tool Cabinet -	made of 22 gauge sheet duly painted	Motor Mechanic	2	0.04		Competitive Bidding
240	Trainees locker	61/2 ' x 3' x 11/2'	D. 4 - + D. 4	2	0.3	0.4	Compatitive Bidding
248	Desktop computer	with 10 locker i7 and related MS	Motor Mechanic	2	0.2	0.64	Competitive Bidding
249	Instructional Material –	office software	Motor Mechanic		0.32	0.08	Competitive Bidding
250	NIMI Books/Ref.books (complete set)		Motor Mechanic	10	0.008		Competitive Bidding
251	Laser printer		Motor Mechanic	1	0.056	0.056	Competitive Bidding
252	LCD projector/ LED	(42")	Motor Mechanic	1	0.32	0.32	Competitive Bidding
253	Multimedia DVD for Automotive application/subjects		Motor Mechanic	20	0.004	0.08	Competitive Bidding
254	Online UPS	2KVA	Motor Mechanic	1		0.2	
	Compression testing gauge	Suitable for Diesel Engine	Motor Mechanic	1	0.2	0.02	Competitive Bidding Competitive Bidding
256	Depth micrometer	Lingille	Motor Mechanic		0.256	0.256	Competitive Bidding
	B	Capable to charge		2	0.004	0.168	
257	Battery charger	5AH-150AH 4/6 cylinderRSV	Motor Mechanic	2	0.084	0.32	Competitive Bidding
258	Fuel injection pump(Diesel)inline	Mechanical pneumatic type	Motor Mechanic	1	0.32		Competitive Bidding
	Fuel injection pump/EV pump/Distributer fuel rotary pump with tools and					0.48	
259	acessories	section side tanks	Motor Mechanic	1	0.48	0.012	Competitive Bidding
260	Radiator cut section flow	radiator core	Motor Mechanic	1	0.012		Competitive Bidding
	Radiator cut section	section upper & lower tanks,radiator				0.012	
261	downflow	core∩	Motor Mechanic	1	0.012	<u> </u>	Competitive Bidding

	C++	I		l	ı	0.052	1
	Starter motor axial type,pre-					0.052	
	engagement type&co-axial						
262	type		Motor Mechanic	1	0.052		Competitive Bidding
		_				0.084	
		Latest WGT type to					
		show turbine					
	Turbo charger cut sectional	impeller and					
263	view	compressor wheels	Motor Mechanic	1	0.084		Competitive Bidding
						1.6	
		Two front drum					
		sectioned to show					
		the internal working					
		front drum run by					
		hand,rear break					
		drum					
		assembly,compressor					
		air dryer,different					
		valves,air pressure					
	Working model of Air break	gauges,spring break					
264	assembly	actuator.	Motor Mechanic	1	1.6		Competitive Bidding
	Alternator assembly used					0.052	
265	for LMV	Alternator(>50Amp)	Motor Mechanic	1	0.052		Competitive Bidding
	Cut section model of Mock	, , , , ,				1.08	
	layout of a motor car-						
	electrical system working	Wiring with parts and					
266	model	accessories	Motor Mechanic	1	1.08		Competitive Bidding
	Cut section model of shock					0.168	
267	absorbers		Motor Mechanic	1	0.168	0.1200	Competitive Bidding
	Cut section model of	sectioned to show		_	0.200	0.2	compensate blading
	automatic transmission gear					0.2	
	box	mechanization	Motor Mechanic	1	0.2		Competitive Bidding
	JOX.	THE CHAINE ACTION	TVIOCOT TVICCITATIIC	-	0.2	0.192	competitive blading
	Cut section model of					0.132	
269	centrifugal clutch assembly		Motor Mechanic	1	0.192		Competitive Bidding
203	Cut section working model		Wiotor Wicemanie	-	0.132	0.224	competitive blading
	of single plate clutch					0.224	
270	assembly		Motor Mechanic	1	0.224		Competitive Bidding
	Front axle(Rzeepa joint)with		WIOTOT WICCHAINC	_	0.224	0.128	competitive blading
	stand	Rzeppa joint of LMV	Motor Mechanic	1	0.128	0.128	Competitive Bidding
2/1	Staria	NZCPPU JOINT OF EIVIV	TVIOCOT TVICCHAINC	_	0.128	0.24	competitive blading
	Full floating axle and semi					0.24	
	floating axle assembly	Drum and axle casing	Motor Mochanic	1	0.24		Competitive Bidding
212	moating axie assembly	Di uili aliu axie casilig	MOTOL MECHANIC	1	0.24	0.272	Competitive Bluding
	Synchronous gear box with	Gearbox with 5				0.272	
	stand for dismantling and	forward & 1 reverse					
272	-		Motor Mochani-	1	0.272		Compositive Ridding
273	assembly	gear	Motor Mechanic	1	0.272	0.0000	Competitive Bidding
274	Tubed tyre of car ,truck&		Naham Na l	_	0.0000	0.0096	Common atitiva District
274	motorcycle		Motor Mechanic	T	0.0096	0.404	Competitive Bidding
	Tubeless tyre of cars and		N4-+ N4		0.404	0.104	0
275	Truck		Motor Mechanic	1	0.104		Competitive Bidding
	Tyre&split rim wheel					0.048	
276	assembly	commercial vehicle	Motor Mechanic	1	0.048		Competitive Bidding
						0.28	
		Manually operated					
277	Spring tension tester	with analogue display	Motor Mechanic	1	0.28	1	Competitive Bidding

		Latest Dissal anging		l	1	0.42	Τ
	Diocal angina siy aylindar in	Latest Diesel engine				0.12	
270	Diesel engine six cylinder in	CRDI 4 stroke 6	N 4 - 4 N 4 l ! -	4	0.43		Commentation District
2/8	running condition	cylinder	Motor Mechanic	1	0.12	4.00	Competitive Bidding
270	Air conditionong service	C 11			4.00	1.08	6 5.1.1
279	unit(CAR)	Suitable for R134A	Motor Mechanic	1	1.08	0.4	Competitive Bidding
	Petrol engine	cut section of 2stroke				0.4	
200	(2stroke)Motor	2W engine single	N 4 - 4 N 4 l ! -	4	0.4		Commentation District
280	cycle/scooter	cylinder	Motor Mechanic	1	0.4	0.404	Competitive Bidding
		220				0.104	
	-	220v,Heater capacity					
204	Tube/Tyre vulcanizing	400Wx2 with	N 4 - 4 N 4 l ! -	4	0.404		Commentation District
281	machine	different types of die	Motor Mechanic	1	0.104	0.4	Competitive Bidding
						0.4	
		Matarizad phaumatic					
		Motorized pneumatic					
		type,rim clamping					
		facility and bead					
202	Turo charger machine	breaking facility with	Motor Mochanic	1	0.4		Campatitiva Biddina
282	Tyre charger machine	air inflating device	Motor Mechanic	1	0.4	0.56	Competitive Bidding
		Flow analysis and				0.56	
		•					
	Ultrasonic injection cleaning	flow pattern test,leak					
202			Motor Mechanic	1	0.56		Competitive Bidding
283	equipment	programming mode	MOTOL MECHANIC	1	0.56	0.64	Competitive Bidding
		For wheel balancing				0.64	
		of LMV,motor					
		0.5HP,shaft diameter					
204	Wheel balancing machine	38mm	Motor Mechanic	1	0.64		Competitive Bidding
204	Wheel balancing machine	30111111	MOTOL MECHANIC	1	0.04	0.024	Competitive Bidding
285	White board.	8ft.x4ft.	Motor Mechanic	1	0.024	0.024	Competitive Bidding
263	writte board.	011.3411.	WIOLOT WIECHAINC	1	0.024	0.048	Competitive Bidding
286	Trainers table		Motor Mechanic	1	0.048	0.046	Competitive Bidding
200	Traillers table		WIOLOT WIECHAINC	1	0.048	0.08	Competitive Bidding
287	Trainers chair		Motor Mechanic	1	0.08	0.08	Competitive Bidding
207	Sewing machine single		Sewing	1	0.08	0.6	Competitive Bidding
288	needle lock stitch	industrial model	Technology	5	0.12	0.0	Competitive Bidding
200	Zig Zag multi purpose	industrial model	Sewing	3	0.12	0.088	Competitive Bidding
289	machine		Technology	1	0.088	0.000	Competitive Bidding
203	- Indentific		Sewing	_	0.000	0.14	Competitive Blading
290	Double needle machine		Technology	1	0.14	0.11	Competitive Bidding
230	Double Heedle Hidefille		Sewing	_	0.14	0.64	Competitive Blading
291	Button hole machine		Technology	1	0.64	0.01	Competitive Bidding
	Datton note machine		Sewing			0.16	competitive Bidding
292	Button sewing machine		Technology	1	0.16	0.20	Competitive Bidding
	Datter sering meeting		Sewing		0.20	0.8	competitive Bidding
293	Bar track machine		Technology	1	0.8	0.0	Competitive Bidding
			Sewing			0.384	
294	Feed of the arm needle		Technology	1	0.384	0.00	Competitive Bidding
			Sewing		0.00 .	0	competitive Bidding
295	Machine Attachments		Technology	21	0	[	Competitive Bidding
			Sewing			0.48	
296	Stools		Technology	20	0.024	[	Competitive Bidding
			Sewing			0.864	
297	Drafting table		Technology	9	0.096		Competitive Bidding
			201			0	
	Display board covered with		Sewing			ĺ	
298	glass or acrylic sheet		Technology	2	0		Competitive Bidding
	0	ļ		<u> </u>	1-	<u> </u>	

		10 lookors with				0.40	
		10 lockers with	Cowing			0.48	
200	Diagram hala alminah	separate locking	Sewing		0.24		Carra atitiva Biddina
299	Pigeon hole almirah	arrangement	Technology	2	0.24	0.000	Competitive Bidding
200	ladafanda a bala		Sewing	20	0.0016	0.032	Carran atitiva Biddia a
300	Locks for pigeon hole		Technology	20	0.0016	0.004	Competitive Bidding
201	Calardata a da aletera a		Sewing	4	0.004	0.004	Common atitions Districts
301	Calculator desk type White board with		Technology	1	0.004	0.404	Competitive Bidding
202			Sewing	1	0.104	0.104	Commontitive Ridding
302	accessories		Technology	1	0.104	0.64	Competitive Bidding
202	Single decks for trainees		Sewing	20	0.032	0.64	Compatitive Ridding
303	Single desks for trainees		Technology Sewing	20	0.032	0.176	Competitive Bidding
304	Display board		Technology	2	0.088	0.176	Competitive Bidding
304	Display board		Sewing		0.088	0.12	Competitive Bluding
305	Book shelf		Technology	1	0.12	0.12	Competitive Bidding
303	DOOK SHEII	AC/HWDC,230	Tractor	1	0.12	0.144	Competitive Bluding
306	Dual Magenziation yoke	VAC,50hz	Mechanic	1	0.144	0.144	Competitive Bidding
300	Dual Wageriziation yoke	VAC,30112	Tractor	-	0.144	0.56	competitive blading
307	Gas Welding Table	1220 mm x 760 mm	Mechanic	2	0.28	0.50	Competitive Bidding
307	das Welanig Table	.D.E Pedestal with	Wiccitatiic		0.20	0.288	competitive blading
	Grinding machine (general	300 mm dia wheels	Tractor			0.200	
308	purpose)	rough and smooth	Mechanic	2	0.144		Competitive Bidding
300	Liquid Penetrant inspection	rough and smooth	Tractor		0.144	0.004	competitive blading
309	kit		Mechanic	1	0.004	0.004	Competitive Bidding
303			Tractor	1	0.001	0.32	compensive blading
310	Multi scan tool		Mechanic	1	0.32	0.32	Competitive Bidding
310	PTO operated rotary lawn		Tractor	1	0.52	0.144	compensive blading
311	mower		Mechanic	1	0.144	0.2	Competitive Bidding
	Pipe bending machine		Tractor			0.096	
312	(hydralic type)	12mm to 30 mm	Mechanic	1	0.096		Competitive Bidding
	( / /   - /		Tractor			0.48	, and a second
313	Tractor Diesel engine	4 stroke	Mechanic	2	0.24		Competitive Bidding
	Ü					0.12	
	trolley type portable air	with 45 litres capacity	Tractor				
314	compresser single cylinder	Air tank	Mechanic	1	0.12		Competitive Bidding
	, ,		Tractor			0.28	
315	welding transformer	(150-300 Amps)	Mechanic	1	0.28		Competitive Bidding
316	Tape and die	B.S.F up to 1 inch	Turner	2	0.0052	0.0104	Competitive Bidding
317	Tape and die	B.S.W upto 1 inch	Turner	2	0.006	0.012	Competitive Bidding
	Reamer machine	straight flute 6 to 25	Turner	1	0.004	0.004	
318		mm					Competitive Bidding
319	Reamer Adjustable	10 to 20 mm	Turner	1	0.0044	0.0044	Competitive Bidding
	Tool Holder RH & straight		Turner	1	0.01	0.01	
320	for mm square tool bit						Competitive Bidding
	Partng tool holder with		Turner	12	0.0152	0.1824	
321	H.S.S blade						Competitive Bidding
	Tool bits	12 x 150 mm sq.	Turner	12	0.0012	0.0144	
322		Assorted shaped					Competitive Bidding
323	Boring tool holder	6 mm sq.tool bit	Turner	15	0.028	0.42	Competitive Bidding
	Steel rule	300 mm with metric	Turner	15	0.0012	0.018	
324		and inch					Competitive Bidding
	Oil Can		Turner	6	0.0016	0.0096	
		1/2 pint (pressure					
325		feed system)				1	Competitive Bidding
326	Dog Carrier	25,50 and 75 mm	Turner	12	0.00232	0.02784	Competitive Bidding
	Angle plate	Adjustable -	Turner	2	0.048	0.096	
327		150x75x250 mm					Competitive Bidding
328	Spirit level	0.05 mm/200 mm	Turner	2	0.002	0.004	Competitive Bidding

329	Tool Maker's button		Turner	1	0.24	0.24	Competitive Bidding
	Combination Dril/Centre		Turner		-	0.0016	, , , , , , , , , , , , , , , , , , ,
330	Drill	A3,A4 and A5		1	0.0016		Competitive Bidding
		12 mm sq. X 100 long	Turner			0.06432	
331	oil stone	fine		12	0.00536		Competitive Bidding
			Turner			0.108	
332	Tape wrench (adjustable)			9	0.012		Competitive Bidding
333	Die handle		Turner	2	0.0044	0.0088	Competitive Bidding
	tool bit assorted sizes on		Turner			0.028	
334	holder			10	0.0028		Competitive Bidding
			Turner			0.028	
335	Machine Vice-Swivel Base	100 mm		1	0.028		Competitive Bidding
336	Chalk on Mobile stand		Turner	1	0.0144	0.0144	Competitive Bidding
			Turner			0.0016	
	Spare Grinding wheel Ajax						
337	type for carbide tool			1	0.0016		Competitive Bidding
338	Almirah	1980x910x480 mm	Turner	2	0.096	0.192	Competitive Bidding
	St. Locker with drawer		Turner			0.12	
339	(piegon holes)			1	0.12		Competitive Bidding
340	Desk		Turner	1	0.048	0.048	Competitive Bidding
341	Stool		Turner	4	0.00448	0.01792	Competitive Bidding
	Angle Gause for tool		Turner			0.04	
342	grinding			2	0.02		Competitive Bidding
		M-12 & M-16	Turner			0.0312	
343	Hand Chaser	(External)		2	0.0156		Competitive Bidding
		M-12 & M-16	Turner			0.03136	
344	Hand Chaser	(internal)		2	0.01568		Competitive Bidding
	Revolving Center ( to suit		Turner			0.096	
345	lathe tailstock)			6	0.016		Competitive Bidding
			Turner			0.0192	
	tool cemented carbide						
	assorted shaped (External)						
	for steel turning	set of 12 nos		1	0.0192		Competitive Bidding
347	Thread Plug Gauge	M-20 & M-21	Turner	1	0.008	0.008	Competitive Bidding
348	Thread Plug Gauge	M-20 & M-21	Turner	1	0.008	0.008	Competitive Bidding
			Turner			0.2	
		M-12 to M-21					
349	Machine Chaser	(std.series) to suit on		1	0.2		Competitive Bidding
350	Coventry Die Head		Turner	1	0.0192	0.0192	Competitive Bidding
351	Gauge Drill Grinding	450 1: / : 1	Turner -	1	0.0168	0.0168	Competitive Bidding
252		150 mm dia. (circular	Turner			0.0132	
352	Maganetic Check	type)	-	1	0.0132	0.0	Competitive Bidding
252			Turner		0.0	0.2	6 5.11
353	Lather Mandrels (diff.Types)		T	1	0.2	0.0	Competitive Bidding
25.4	Coventry Type Die Head		Turner	2	0.4	0.8	Commoditive Distal
354	(self opening)		T	2	0.4	0.04	Competitive Bidding
255	Collapsible Tap with		Turner	4	0.01	0.04	Commentation B' L'
355	attachment		T	1	0.04	0.00	Competitive Bidding
25.0	Fire Extinguisher and		Turner	2	0.01	0.08	Commentation B' L'
356	buckets	12 +- 25 25 : 55	T	2	0.04	0.000	Competitive Bidding
		12 to 35 mm,35 to 65	rurner			0.096	
		mm, dial gauge					
257	Dave diel severe	indicator of 0.01		4	0.000		Commodition District
357	Bore dial gauge stems	accuracy	T	1	0.096	0.0	Competitive Bidding
	-+h - C C O C C (A!)	150	Turner			0.8	
252	Lathe S.S.& S.C. (All geared	150 mm centre		4	0.0		Commentation B' L'
358	head stock)	height, to admit 750		1	0.8		Competitive Bidding

						0.08	
359	Oven,electrode drying	0-350c,10kg capacity	Welder	1	0.08		Competitive Bidding
		340x120x75cm with 4				0.224	
		Bench vices of					
360	Working Bench	150mm jaw	Welder	4	0.056		Competitive Bidding
	Oxy Acetylene gas cutting					0.016	
361	blow pipe		Welder	1	0.016		Competitive Bidding
						0.04	
362	Oxygen Acetylene cylinder		Welder	1	0.04		Competitive Bidding
363	CO2 cylinder		Welder	1	0.08	0.08	Competitive Bidding
364	Argon gas cylinder		Welder	1	0.08	0.08	Competitive Bidding
365	Leather hand gloves	14"	Welder	17	0.0012	0.0204	Competitive Bidding
366	Cotton hand gloves	8"	Welder	17	0.0004	0.0068	Competitive Bidding
367	Leather Apron		Welder	17	0.0024	0.0408	Competitive Bidding
368	SS wire brush	5rows	Welder	17	0.00044	0.00748	Competitive Bidding
	Arc welding cable multi					0.0216	
369	cored copper	400/600 amp	Welder	45	0.00048		Competitive Bidding
370	Instructor Table &chair		Welder	1	0.064	0.064	Competitive Bidding
	Student chairs with writing					0.576	
371	pads		Welder	16	0.036		Competitive Bidding
	_					60.84916	

S.No.						1	
	Name of items	Specifications	Trade/Course for which it is required	Total Required	Rate / Unit (in INR lakh)	Total (in INR lakh)	Method of Procurement(e.g. Shopping/Competit ive Bidding)
1	Computer (PC) with latest configurations and Internet connection with standard operating system and standard word processor and worksheet		ICT Infrastructure	25	0.6	15	Competitive Bidding
2	Laptop Latest Specification		ICT Infrastructure	2	0.55	1.1	Competitive Bidding
3	Large Format Display With Integrated Touch aleast 55"/65" FHD LED Display		ICT Infrastructure	1	3.39	3.39	Competitive Bidding
	LLD DISSIGY					19.49	
Year 2							
S.No.	Name of items	Specifications	Trade/Course for	Total Required		Total (in	Method of
			which it is required		(in INR lakh)	INR lakh)	Procurement(e.g. Shopping/Competit ive Bidding)
1	Digital Podium with all accessories			1	`		Shopping/Competit
1 2	with all accessories Visual Presenter, with		required ICT	1	lakh)	lakh)	Shopping/Competit ive Bidding)
	with all accessories Visual		ICT Infrastructure ICT		1.5	1.5	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding
2	with all accessories Visual Presenter, with optical zoom Scanner cum		ICT Infrastructure ICT Infrastructure ICT Infrastructure	1	1.5 1.05	1.5 1.05	Shopping/Competit ive Bidding)  Competitive Bidding
2	with all accessories Visual Presenter, with optical zoom Scanner cum Printer Computer		ICT Infrastructure  ICT Infrastructure  ICT Infrastructure  ICT Infrastructure	1	1.5 1.05 0.15	1.5 1.05 0.15	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
3 4	with all accessories Visual Presenter, with optical zoom Scanner cum Printer Computer Tables Computer		ICT Infrastructure  ICT Infrastructure  ICT Infrastructure  ICT Infrastructure  ICT Infrastructure  ICT Infrastructure	1 1 30	1.5 1.05 0.15 0.04	1.5 1.05 0.15	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
2 3 4 5	with all accessories Visual Presenter, with optical zoom Scanner cum Printer Computer Tables Computer Chairs		ICT Infrastructure	1 1 30 30	1.5 1.05 0.15 0.04 0.025	1.5 1.05 0.15 1.2 0.75	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding
2 3 4 5	with all accessories Visual Presenter, with optical zoom Scanner cum Printer Computer Tables Computer Chairs Officers Table		ICT Infrastructure	1 1 30 30 1	1.5 1.05 0.15 0.04 0.025	1.5 1.05 0.15 1.2 0.75	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding  Competitive Bidding
2 3 4 5 6 7	with all accessories Visual Presenter, with optical zoom Scanner cum Printer Computer Tables Computer Chairs Officers Table Interactive		ICT Infrastructure  ICT Infrastructure	1 1 30 30 1	1.5 1.05 0.15 0.04 0.025 0.07	1.5 1.05 0.15 1.2 0.75 0.07	Shopping/Competit ive Bidding)  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding  Competitive Bidding